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Q1. Consider the following statements.
Statement-I: Brazil’s first reported case of bird flu on 
a commercial poultry farm in May 2025 immediately 
triggered alarms regarding global poultry supply chains.
Statement-II: Brazil accounts for approximately 
5% of the global chicken export market, making its 
poultry industry a minor player in international trade.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q2. Consider the following discoveries attributed to 
NASA’s GRAIL mission regarding the Moon:
1. The Moon’s farside crust is significantly thinner 

than its nearside crust, allowing for more extensive 
volcanic maria formation on the farside.

2. The lunar nearside was found to be more 
volcanically active in the past due to higher 
concentrations of heat-producing elements like 
helium and argon.

3. The GRAIL mission detected that the Moon’s 
nearside mantle is warmer by approximately 
100-200°C compared to the far side mantle.

How many of the above statements is/are incorrect?
(a) Only one  (b) Only two
(c) All three  (d) None

Q3. Which United Nations body is primarily responsible 
for mandating and establishing UN Peacekeeping 
operations?
(a) The UN General Assembly
(b) The UN Secretariat
(c) The UN Security Council
(d) The International Court of Justice

Q4. Consider the following statements regarding the 
United Nations Interim Force in Lebanon (UNIFIL).
Statement-I: United Nations Interim Force in 
Lebanon (UNIFIL) frequently encounters challenges 
in ensuring its freedom of movement within its 
designated area of operations in Southern Lebanon.
Statement-II: UN Security Council Resolution 
1701 mandates UNIFIL to operate independently of 
the Lebanese Armed Forces and to disarm all armed 
groups in Lebanon without requiring the consent of 
the Lebanese government.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q5. Consider the following statements regarding New 
Caledonia:
1. New Caledonia is an independent sovereign 

nation located in the Southwestern Pacific Ocean.
2. The indigenous Kanak people constitute the 

majority population and have consistently voted 
for maintaining close political ties with France.

3. The New Caledonian Barrier Reef, a UNESCO 
World Heritage Site, encloses one of the world’s 
largest lagoons.

How many of the above statements is/are incorrect?
(a) Only one  (b) Only two
(c) All three  (d) None

Q6. Consider the following statements regarding the 
Malabar Large-Spotted Civet:
1. It is a herbivorous mammal, primarily feeding on 

fruits and leaves found in the Western Ghats.
2. Its IUCN status is ‘Vulnerable’ due to increasing 

habitat fragmentation.
3. The species is characterized by grey fur with dark 

spots.
4. It is a diurnal and social animal, often found in 

large family groups.
How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) Only three  (d) All four

Q7. Consider the following statements.
Statement-I: Sikkim’s integration into India in 
1975 was a result of a military annexation by India 
following the lapse of British paramountcy.
Statement-II: Sikkim shares a border with West 
Bengal and is strategically important due to its 
proximity to the Doklam region.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q8. Consider the following statements regarding the 
Official Secrets Act, 1923 (OSA):
1. The Act exclusively criminalizes spying activities 

undertaken by foreign nationals on Indian soil.
2. Wrongful communication of sensitive 

information under Section 5 of the OSA is 
punishable only if it is proven to be intentional.

3. Prosecutions under the OSA must always be 
conducted in open court to ensure transparency.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None
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प्रश्न 1. निमिनिनित कथिों पर निचार करें :
कथि-I: ब्ाज़ीि में मई 2025 में एक व्ािसान्क पोल्ट़्ी 
फाम्म में बर्म फिलू का पहिा मामिा सामि ेआि ेस ेिनैविक 
पोल्ट़्ी आपलूनत्म श्रृंििाओ ृं को िकेर तरुृं त ह़ी नचृंता उतपनि 
हो गई।
कथि-II: ब्ाज़ीि िनैविक नचकि नि्ा्मत बाजार में िगभग 
5% की नहससदेाऱी रिता ह,ै नजसस े् ह अृंतरराष्ट़्ी् व्ापार 
में एक मामलूि़ी नििाड़ी बिता ह।ै
उपरोक्त में स ेकौि-सा निकल्प सह़ी ह?ै
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं, परंतु कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही ह ैजबकक कथन-II गलत है
(d)  कथन-I गलत ह ैजबकक कथन-II सही है

प्रश्न 2. चृंद्रमा के सृंबृंध में िासा के GRAIL नमशि द्ारा की गई 
निमिनिनित िोजों पर निचार करें :

1. चंद्रमया के सुदूर (फयारसयाइड) की परत कनकट (कन्रसयाइड) 
की परत की तुलनया में कयाफी पतली ह,ै कजससे फयारसयाइड 
पर अकिक जवयालयामुखी्  मरैर य्ा (Maria) बनने की संभयावनया रही।

2. चंद्रमया कया कन्रसयाइड अतीत में अकिक जवयालयामुखी् रूप 
से सकरि् थया क्ोंकक वहयँा हीकल्म और आग्गन जसेै ऊषमया 
उतपनन करने वयाले ततव अकिक मयात्या में पयाए गए।

3. GRAIL कमशन ने पया्या कक चंद्रमया के कन्रसयाइड में मैंटल 
(Mantle) की तयापमयान फयारसयाइड से लगभग 100–200°C 
अकिक ह।ै

इिमें स ेनकति ेकथि गित हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं

प्रश्न 3. सृं्कु्त राष्ट् की िह कौि-स़ी सृंसथा ह ै जो UN शाृंनत 
रक्षण अनभ्ािों के गठि और सृंचािि की प्राथनमक 
नजममदेाऱी रित़ी ह?ै

(a) सं्ुक्त रयाषट्र महयासभया
(b) सं्ुक्त रयाषट्र सकचवयाल्
(c) सं्ुक्त रयाषट्र सुरक्या पररषद
(d) अंतरया्गषट्री् न्या्याल्

प्रश्न 4. सृं्कु्त राष्ट् अृंतररम बि िबेिाि (UNIFIL) के सृंबृंध में 
निमिनिनित कथिों पर निचार करें :

कथि-I: UNIFIL को दनक्षण़ी िबेिाि में अपि ेसृंचािि 
क्षते्र के भ़ीतर सितृंत्र रूप स े का ््म करि े में बार-बार 
चिुौनत्ों का सामिा करिा पडता ह।ै
कथि-II: सरुक्षा पररषद के प्रसताि 1701 के तहत UNIFIL 
को िबेिाि़ी सशस्त्र बिों स ेसितृंत्र रूप स ेका ््म करि ेऔर 
िबेिाि में सभ़ी सशस्त्र समलूहों को िबेिाि़ी सरकार की 
सहमनत के नबिा ह़ी निरस्त्र करि ेका आदशे नद्ा ग्ा ह।ै
उपरोक्त में स ेकौि-सा निकल्प सह़ी ह?ै
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं, परंतु कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही ह ैजबकक कथन-II गलत है
(d)  कथन-I गलत ह ैजबकक कथन-II सही है

प्रश्न 5. न ल्ू कैिरेोनि्ा के सृंबृंध में निमिनिनित कथिों पर 
निचार करें :

1. न् ूकैलेडोकन्या दकक्ण-पकचिमी प्रशयंात महयासयागर में क्थत 
एक ्वतंत् संप्रभु रयाषट्र ह।ै

2. वहयंा के मलू कनवयाकस्ों – कनक जनजयाकत – की आबयादी 
बहुसंख्क ह ै और उनहोंने फयंास के सयाथ कनकट संबंि 
बनयाए रखने के पक् में कनरंतर मतदयान कक्या ह।ै

3. न् ू कैलेडोकन्न बरैर्र रीफ, जो एक ्नेू्को कवश्व 
िरोहर ्थल ह,ै कवश्व के सबसे बडे लगैनूों में से एक को घेरे 
हुए ह।ै

इिमें स ेनकति ेकथि गित हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

प्रश्न 6. मिाबार बड़ी नचतकबऱी नसिटे के सृंबृंध में निमिनिनित 
कथिों पर निचार करें :

1. ्ह एक शयाकयाहयारी ्तनपया्ी ह,ै जो मुख्तः फलों और 
पकति्ों पर कनभ्गर रहतया ह ैऔर पकचिमी घयाट में पया्या जयातया ह।ै

2. IUCN ने इसे ‘असुरकक्त (Vulnerable)’ शे्णी में रखया ह,ै 
क्ोंकक इसकया आवयास तेजी से खंकडत हो रहया ह।ै

3. इसकी पहचयान गे् रंग की फर और कयाले िबबों से होती ह।ै
4. ्ह एक कदनचर (Diurnal) और सयामयाकजक प्रयाणी ह,ै जो 

प्रया्ः बडे पयाररवयाररक समहूों में पया्या जयातया ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) केवल तीन  (d) सभी चयार

प्रश्न 7. निमिनिनित कथिों पर निचार करें :
कथि-I: 1975 में नसन्कम का भारत में निि् नब्नटश 
अनधराज् (paramountcy) की समानति के बाद भारत़ी् 
सनै् अनधग्रहण का पररणाम था।
कथि-II: नसन्कम की स़ीमा पनचिम बृंगाि स ेिगत़ी ह ै
और ्ह रोकिाम क्षते्र के निकट होि ेके कारण सामररक 
दृनटि स ेमहतिपलूण्म ह।ै
इिमें स ेकौि-सा निकल्प सह़ी ह?ै
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं, परंतु कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही ह ैजबकक कथन-II गलत है
(d)  कथन-I गलत ह ैजबकक कथन-II सही है

प्रश्न 8. सरकाऱी गोपि़ी्ता अनधनि्म, 1923 (OSA) के सृंबृंध 
में निमिनिनित कथिों पर निचार करें :

1. ्ह अकिकन्म केवल भयारत की भकूम पर कवदेशी नयागररकों 
द्यारया की गई जयाससूी गकतकवकि्ों को अपरयाि घोकषत करतया ह।ै

2. OSA की ियारया 5 के अंतग्गत संवेदनशील जयानकयारी के 
गलत संपे्रषण को तभी दंडनी् मयानया जयातया ह,ै जब ्ह 
जयानबझूकर कक्या ग्या हो।

3. OSA के अंतग्गत मुकदमों को हमेशया पयारदकश्गतया बनयाए 
रखने हेतु खुली अदयालत में चलयानया आवश्क ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं
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Q9. Consider the following statements regarding 
Operation Olivia:
1. It is a year-round initiative led by the Ministry 

of Environment, Forest and Climate Change to 
protect all species of sea turtles found in Indian waters.

2. The operation primarily focuses on the Gahirmatha 
Marine Sanctuary, the world’s largest rookery for 
Olive Ridley turtles.

3. A key objective is to enforce the mandatory use 
of Turtle Excluder Devices (TEDs) by fishing 
trawlers operating along the Odisha coast during 
the turtle nesting season.

4. The Indian Navy plays the lead role in surface 
and aerial surveillance for this operation.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) Only three  (d) All four

Q10. With reference to the Kandha tribe and their 
tradition of facial tattooing, consider the following 
statements:
Statement-I: The practice of facial tattooing among 
Kandha women originated primarily as an aesthetic 
tradition to enhance marital eligibility and signify 
tribal identity.
Statement-II: The decline in the facial tattooing 
tradition among younger Kandha women is largely 
attributed to increased education, awareness 
campaigns, and a shift in cultural perceptions of 
relevance and protection.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q11. Which geographical feature is located near the 
Golan Heights?
(a) Sinai Peninsula  (b) Dead Sea
(c) Mount Hermon (d) Tigris River

Q12. Consider the following statements about the Joint 
Parliamentary Committee (JPC):
1. The Speaker of the Lok Sabha is responsible for 

constituting the JPC.
2. Members of the JPC are drawn exclusively from 

the Lok Sabha.
3. The JPC must submit its report within 90 days 

unless an extension is granted.
4. The strength of the JPC reflects proportional 

party representation in Parliament.
How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) Only three  (d) All four

Q13. Consider the following statements regarding 
the objectives of Crime and Criminal Tracking 
Network & Systems (CCTNS):
1. CCTNS enables predictive policing through AI 

algorithms.
2. It provides direct access to police station records 

for the general public.
3. It eliminates the need for manual reporting of 

crimes at the state level.
How many of the above statements is/are incorrect?
(a) Only one
(b) Only two
(c) All three
(d) None

Q14. Consider the following statements:
1. Cold wave conditions are declared in the hills 

when minimum temperatures fall below 5°C.
2. Snowfall in the Himalayas has no direct effect on 

the cold wave conditions in northern India.
3. Cold waves are intensified in regions with clear 

skies and calm winds.
Which of the above statements is/are correct?
(a) 3 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1, 2 and 3

Q15. Consider the following statements about the 
powers and functions of the Joint Parliamentary 
Committee (JPC):
1. The JPC can examine bills, policies, and specific 

issues referred to it
2. It is a permanent committee with fixed tenure.
3. The JPC can summon documents, witnesses, 

and experts for its analysis.
4. Its recommendations are submitted to the 

Parliament for further discussion.
How many of the above statements is/are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

Q16. Consider the following statements regarding the 
significance of hydrothermal vents:
1. They provide crucial insights into early life forms 

that depend on extreme environments.
2. Hydrothermal vents are a primary source of 

global oxygen production.
3. The mineral deposits around vents can serve as a 

potential resource for economic development.
How many of the above statements is/are incorrect?
(a) Only one
(b) Only two
(c) All three
(d) None
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प्रश्न 9. ऑपरेशि ओनिनि्ा के सृंबृंध में निमिनिनित कथिों 
पर निचार करें :

1. ्ह भयारत की जल सीमयाओ ंमें पयाई जयाने वयाली सभी समुद्री 
कछुओ ंकी रक्या हेतु प्या्गवरण, वन एवं जलवया्ु पररवत्गन 
मंत्याल् द्यारया संचयाकलत एक वष्ग भर चलने वयाली पहल ह।ै

2. ्ह ऑपरेशन मुख्तः ओकडशया के गकहरमयाथया समुद्री 
अभ्यारण् पर कें कद्रत ह,ै जो ऑकलव ररडले कछुओ ंके कलए 
कवश्व कया सबसे बडया प्रजनन ्थल ह।ै

3. इसकया एक प्रमुख उदे्श् कछुओ ं के प्रजनन कयाल के 
दौरयान ओकडशया तट पर मछली पकडने वयाले ट्रयालरों द्यारया 
टट्गल एकसकलडूर कडवयाइसेस (TEDs) के उप्ोग को 
अकनवया ््ग बनयानया ह।ै

4. इस ऑपरेशन में सतह और हवयाई कनगरयानी की अग्णी 
भकूमकया भयारती् नौसेनया कनभयाती ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) केवल तीन
(d) सभी चयार

प्रश्न 10. कृं धा जिजानत और उिके चहेरे पर गोदि े(tattooing) 
की परृंपरा के सृंदभ्म में निमिनिनित कथिों पर निचार करें:

कथि-I: कृं धा मनहिाओ ृं में चहेरे पर गोदि े की परृं परा 
मखु्तः एक सौंद ््म परृं परा के रूप में उतपनि हुई थ़ी, नजसस े
नििाह ्ोग्ता बढे और जिजात़ी् पहचाि प्रकट हो।
कथि-II: ्िुा कृं धा मनहिाओ ृं में चहेरे पर गोदिा घटि ेका 
कारण मखु्तः नशक्षा का प्रसार, जागरूकता अनभ्ाि और 
साृंसक्र नतक सोच में बदिाि ह,ै नजसस ेइसकी प्रासृंनगकता 
और सृंरक्षण की आिश्कता पर प्रश्न उठे हैं।
इिमें स ेकौि-सा निकल्प सह़ी ह?ै
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं, परंतु कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही ह ैजबकक कथन-II गलत है
(d)  कथन-I गलत ह ैजबकक कथन-II सही है

प्रश्न 11. निमिनिनित में स े कौि-स़ी भौगोनिक सृंरचिा 
गोिाि हाइट्स के निकट नसथत ह?ै

(a) कसनयाई प्रया्द्ीप
(b) मतृ सयागर
(c) मयाउंट हममोन
(d) टयाइकग्स नदी

प्रश्न 12. सृं्कु्त सृंसद़ी् सनमनत (JPC) के बारे में निमिनिनित 
कथिों पर निचार करें :

1. लोकसभया अध्क् JPC के गठन के कलए उतिरदया्ी होते हैं।
2. JPC के सद्् केवल लोकसभया से कलए जयाते हैं।
3. JPC को अपनी ररपोट्ग 90 कदनों के भीतर प्र्तुत करनी 

होती ह,ै जब तक कक सम् कव्तयार न कद्या जयाए।
4. JPC की सद्् संख्या संसद में दलों के आनुपयाकतक 

प्रकतकनकितव को दशया्गती ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) केवल तीन  (d) सभी चयार

प्रश्न 13. अपराध और आपरानधक ट्नैकृं ग िटेिक्म  एिृं प्रणाि़ी 
(CCTNS) के उद्शे्ों के सृंबृंध में निमिनिनित कथिों 
पर निचार करें :

1. CCTNS कृकत्म बुकधिमतिया (AI) एलगोररदम के मयाध्म से 
भकवष्वयाणी आियाररत पुकलकसंग सक्म करतया ह।ै

2. ्ह आम जनतया को पुकलस थयानों के ररकॉड्ग  तक प्रत्क् 
पहँुच प्रदयान करतया ह।ै

3. ्ह रयाज् ्तर पर अपरयािों की मनुैअल ररपोकटिंग की 
आवश्कतया को समयाप्त करतया ह।ै

इिमें स ेनकति ेकथि गित हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

प्रश्न 14. निमिनिनित कथिों पर निचार करें :
1. जब न्नूतम तयापमयान 5°C से नीचे कगरतया ह,ै तो पहयाडों में 

शीतलहर की क्थकत घोकषत की जयाती ह।ै
2. कहमयाल् में बफ्ग बयारी कया उतिरी भयारत में शीतलहर की 

क्थकत्ों पर कोई प्रत्क् प्रभयाव नहीं होतया।
3. शीतलहर की तीव्रतया उन के्त्ों में अकिक होती ह ै जहयँा 

आकयाश सयाफ और हवयाएं शयंात होती हैं।
इिमें स ेकौि-स ेकथि सह़ी हैं?
(a) केवल 3
(b) केवल 1 और 3
(c) केवल 2 और 3
(d) 1, 2 और 3

प्रश्न 15. सृं्कु्त सृंसद़ी् सनमनत (JPC) की शनक्त्ों और का्यों 
के बारे में निमिनिनित कथिों पर निचार करें :

1. JPC उन कविे्कों, नीकत्ों और कवकशष्ट मुद्ों की जयंाच कर 
सकती ह ैकजनहें उसे सौंपया ग्या ह।ै

2. ्ह एक ् थया्ी सकमकत ह ैकजसकी एक कनकचित अवकि होती ह।ै
3. JPC कवशे्षण हेतु द्तयावेज़ों, गवयाहों और कवशेषज्ों को 

बुलया सकती ह।ै
4. इसकी कसफयाररशें संसद में आगे की चचया्ग के कलए प्र्तुत की 

जयाती हैं।
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) केवल तीन
(d) सभी चयार

प्रश्न 16. हाइड्ोथम्मि िेंट्स के महति के सृंबृंध में निमिनिनित 
कथिों पर निचार करें :

1. ्े अत्किक ककठन प्या्गवरणी् पररक्थकत्ों में जीवों की 
उतपकति के बयारे में महत्वपणू्ग जयानकयारी प्रदयान करते हैं।

2. हयाइड्ोथम्गल वेंट्स वकैश्वक ऑकसीजन उतपयादन कया प्रमुख 
स्ोत हैं।

3. वेंट्स के आसपयास खकनज जमया आकथ्गक कवकयास के कलए 
संभयाकवत संसयािन हो सकते हैं।

इिमें स ेनकति ेकथि गित हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं
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Q17. Consider the following statements about the 
Ganges River Dolphin:
1. It is listed as “Critically Endangered” under the 

IUCN Red List.
2. It relies on visual navigation due to its well-

developed eyesight.
3. It is protected under Schedule-I of the Wildlife 

(Protection) Act, 1972.
4. It is found in the river systems of India, Nepal, 

and Bhutan.
How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) Only three  (d) All four

Q18. Consider the following statements about fiscal 
prudence:
1. Fiscal prudence emphasizes expenditure based 

on economic cycles.
2. It discourages any form of public debt.
3. Fiscal prudence includes the rationalization of 

subsidies.
Which of the above statements is/are correct?
(a) 1 only   (b) 1 and 3 only
(c) 2 and 3 only  (d) 1, 2 and 3

Q19. Which country does NOT share a border with 
Libya?
(a) Tunisia   (b) Mali
(c) Niger   (d) Sudan

Q20. Why are underwater cables preferred over satellite 
communication for large-scale data transfer?
(a) Cables are immune to natural disasters like 

earthquakes.
(b) Satellite communication is more expensive for 

short-distance data transfer.
(c) Satellites cannot transmit high-speed data.
(d) Cables are faster, more cost-efficient, and have 

higher data capacity.

Q21. Consider the following statements regarding 
border infrastructure development in India:
1. The Border Roads Organisation (BRO) operates 

primarily under the Ministry of Home Affairs 
and is responsible for infrastructure development 
only along India’s land borders with China and 
Pakistan.

2. The Sela Tunnel project, providing all-weather 
connectivity, is located in the state of Sikkim on 
the border with Nepal.

3. The Vibrant Villages Programme aims to enhance 
infrastructure and economic opportunities 
in border villages primarily located along the 
northern border (Indo-China border).

4. Project DANTAK, executed by the BRO, focuses 
on developing road infrastructure within Bhutan, 
contributing to bilateral cooperation.

How many of the above statements are correct?
(a) Only one  (b) Only two
(c) Only three  (d) All four

Q22. With reference to the Chambal River, consider the 
following statements:
1. The river originates from the Janapav Hills 

in Madhya Pradesh and is known for flowing 
through extensive badland topography.

2. It is a right-bank tributary of the Ganga River, 
contributing directly to the main Ganga channel.

3. The National Chambal Sanctuary, located along 
this river, is primarily focused on the conservation 
of the Gharial, Ganges Dolphin, and the Mugger 
crocodile.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q23. Which one of the following statements best 
describes a core objective of the ‘MY Bharat’ portal?
(a) To provide direct financial assistance to youth for 

skill development and entrepreneurship.
(b) To create a centralized database of unemployed 

youth for government job placements.
(c)  To establish a tech-driven institutional platform for 

youth development and youth-led transformation 
through engagement in national initiatives.

(d) To exclusively manage and disburse scholarships 
for higher education to meritorious young students.

Q24. Consider the following statements regarding Drone-
based Quantum Key Distribution (QKD) systems.
Statement-I: Drone-based Quantum Key Distribution 
(QKD) systems offer enhanced security for 
communication by relying on the principles of 
quantum mechanics rather than mathematical complexity.
Statement-II: The no-cloning theorem is 
fundamental to QKD, ensuring that any attempt by 
an eavesdropper to intercept the quantum signals 
will inevitably introduce detectable anomalies.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q25. Consider the following statements about 
Geotubing technology:
1. Geotubes are exclusively made from impermeable 

synthetic materials to prevent any water exchange 
with the surrounding environment.

2. The installation of geotubes always requires deep 
excavation of the seabed to ensure their stability 
against wave action.

3. A primary mechanism by which geotubes 
protect coasts is by forming a submerged barrier 
that absorbs and dissipates wave energy before it 
reaches the shore.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None
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प्रश्न 17. गृंगा िद़ी रॉनल़्िि के बारे में निमिनिनित कथिों पर 
निचार करें :

1. IUCN रेड कल्ट में इसे "गंभीर रूप से संकटग््त 
(Critically Endangered)" शे्णी में रखया ग्या ह।ै

2. ्ह अपनी अचछी कवककसत दृकष्ट के कयारण दृश् नेकवगेशन 
पर कनभ्गर रहती ह।ै

3. ्ह वन्जीव (संरक्ण) अकिकन्म, 1972 की अनुसचूी-I के 
अंतग्गत संरकक्त ह।ै

4. ्ह भयारत, नेपयाल और भटूयान की नदी प्रणयाकल्ों में पयाई 
जयाती ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) केवल तीन  (d) सभी चयार

प्रश्न 18. नित़्ी् सृं्म (Fiscal Prudence) के सृंबृंध में 
निमिनिनित कथिों पर निचार करें :

1. कवतिी् सं्म कया जोर आकथ्गक चरि के अनुसयार व्् करने 
पर होतया ह।ै

2. ्ह ककसी भी प्रकयार के सयाव्गजकनक ऋण को हतोतसयाकहत 
करतया ह।ै

3. कवतिी् सं्म में सकबसडी कया कववेकीकरण (rationalization) 
शयाकमल होतया ह।ै

इिमें स ेकौि-स ेकथि सह़ी हैं?
(a) केवल 1   (b) केवल 1 और 3
(c) केवल 2 और 3  (d) 1, 2 और 3

प्रश्न 19. निमिनिनित में स ेकौि-सा दशे ि़ीनब्ा के साथ स़ीमा 
साझा िहीं करता ह?ै

(a) ट््नूीकश्या  (b) मयाली
(c) नयाइजर   (d) सडूयान

प्रश्न 20. बड ेपमैाि ेपर रटेा हसताृंतरण के निए उपग्रह सृंचार की 
तिुिा में पाि़ी के भ़ीतर केबिों को ््ों प्राथनमकता 
द़ी जात़ी ह?ै

(a)  केबल प्रयाकृकतक आपदयाओ ंजसेै भकंूप से प्रभयाकवत नहीं होतीं।
(b)  उपग्ह संचयार, कम दूरी के डेटया ट्रयंासफर के कलए अकिक 

महंगया होतया ह।ै
(c)  उपग्ह उचच गकत डेटया संचयाररत नहीं कर सकते।
(d)  केबल अकिक तेज़, लयागत प्रभयावी और अकिक डेटया क्मतया 

वयाली होती हैं।

प्रश्न 21. भारत में स़ीमा बनुि्ाद़ी ढाृंच ेके निकास के सृंबृंध में 
निमिनिनित कथिों पर निचार करें :

1. सीमया सडक संगठन (BRO) मुख्तः गहृ मंत्याल् के 
अिीन कया ््ग करतया ह ै और केवल भयारत की चीन और 
पयाकक्तयान के सयाथ भकूम सीमयाओ ं पर बुकन्यादी ढयंाचे के 
कवकयास कया उतिरदया्ी ह।ै

2. सेलया सुरंग परर्ोजनया, जो हर मौसम में संपक्ग  प्रदयान 
करती ह,ै नेपयाल से लगती सीमया पर क्थत कसकककम रयाज् 
में क्थत ह।ै

3. वयाइब्ेंट कवलेजेज कया ््गरिम कया उदे्श् मुख्तः उतिरी सीमया 
(भयारत-चीन सीमया) के सयाथ क्थत सीमयावतती गयंावों में 
बुकन्यादी ढयंाचे और आकथ्गक अवसरों को बढयानया ह।ै

4. प्रोजेकट दंतक, BRO द्यारया करि्याकनवत, भटूयान में सडक 
अवसंरचनया कवककसत करने पर कें कद्रत ह,ै कजससे कद्पक्ी् 
सह्ोग को बढयावया कमलतया ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) केवल तीन  (d) सभी चयार

प्रश्न 22. चृंबि िद़ी के सृंदभ्म में निमिनिनित कथिों पर निचार करें :
1. ्ह नदी मध् प्रदेश के जनपयाव कहलस से कनकलती ह ैऔर 

व्यापक बडैलैंड ्थलयाकृकत से होकर बहती ह।ै
2. ्ह गंगया नदी की दयाकहनी ओर की सहया्क नदी ह,ै और 

सीिे मुख् गंगया चनैल में ्ोगदयान करती ह।ै
3. इस नदी के ककनयारे क्थत रयाषट्री् चंबल अभ्यारण् 

मुख्तः घकड्याल, गंगया डॉकल़िन और मगरमचछ के 
संरक्ण पर कें कद्रत ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं

प्रश्न 23. निमिनिनित में स े कौि-सा कथि ‘MY Bharat’ 
पोट्मि के एक मखु् उद्शे् का सि्मशषे्ठ िण्मि करता ह?ै

(a) कौशल कवकयास और उद्यकमतया के कलए ्ुवयाओ ं को सीिे 
कवतिी् सहया्तया प्रदयान करनया।

(b) सरकयारी नौकरी कन्ुकक्त्ों के कलए बेरोजगयार ्ुवयाओ ंकया 
एक कें द्रीकृत डेटयाबेस बनयानया।

(c) ्ुवयाओ ंके कवकयास और रयाषट्री् पहलों में उनकी भयागीदयारी 
के मयाध्म से ्ुवया-नेततृव वयाले पररवत्गन के कलए एक 
तकनीकी-संचयाकलत सं्थयागत मंच ्थयाकपत करनया।

(d) प्रकतभयाशयाली छयात्ों को उचच कशक्या के कलए छयात्वकृति्ों कया 
कवशेष प्रबंिन और कवतरण करनया।

प्रश्न 24. ड्ोि-आधाररत ्िाृंटम की नितरण (QKD) प्रणाि़ी के 
सृंबृंध में निमिनिनित कथिों पर निचार करें :

कथि-I: ड्ोि-आधाररत QKD प्रणानि्ाँ सृंचार के निए 
गनणत़ी् जनटिता के बजा् ्िाृंटम ्ाृंनत्रकी के नसदाृंतों 
पर आधाररत होकर अनधक सरुक्षा प्रदाि करत़ी हैं।
कथि-II: िो-्िोनिृंग प्रमे्  QKD की मलूिभलूत निशषेता ह,ै 
जो ्ह सनुिनचित करता ह ैनक कोई भ़ी व्नक्त ्नद ्िाृंटम 
सृंकेतों को इृंटरसपेट करि ेका प्र्ास करे, तो उसमें निनचित 
रूप स ेत्रनुट्ाँ उतपनि होंग़ी नजनहें पहचािा जा सकता ह।ै
उपरोक्त में स ेकौि-सा निकल्प सह़ी ह?ै
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं, परंतु कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही ह ैजबकक कथन-II गलत है
(d)  कथन-I गलत ह ैजबकक कथन-II सही है

प्रश्न 25. नज्ोट् ल्ूनबृंग तकि़ीक के सृंबृंध में निमिनिनित 
कथिों पर निचार करें :

1. कज्ोट््बू केवल अपयारगम् (impermeable) कसंथेकटक 
सयामग्ी से बनयाए जयाते हैं तयाकक वे आसपयास के वयातयावरण के 
सयाथ जल कवकनम् को रोक सकें ।

2. लहरों के प्रभयाव से क्थरतया सुकनकचित करने हेतु कज्ोट््बू 
की ्थयापनया के कलए समुद्र तल की गहरी खुदयाई आवश्क 
होती ह।ै

3. कज्ोट््बू द्यारया तटी् रक्या कया एक प्रमुख तरीकया ्ह ह ै
कक ्े डूबे हुए अवरोि के रूप में कया ््ग करते हैं, जो लहरों की 
ऊजया्ग को अवशोकषत कर तट तक पहँुचने से पहले उसे घटया 
देते हैं।

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं
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Q26. Which one of the following geographical features 
is not typically associated with the topography of 
the Tibetan Plateau?
(a) High-altitude cold deserts like the Qiangtang 

Plateau.
(b)  Presence of major mountain ranges like the 

Himalayas to its south and Kunlun to its north.
(c) Deep river valleys and ravines, particularly in its 

southeastern parts.
(d) Extensive, low-lying coastal plains and mangrove 

ecosystems.

Q27. Consider the following statements concerning the 
National Chambal Sanctuary:
1. It is a tri-state protected area exclusively managed 

by the Ministry of Environment, Forest and 
Climate Change, Government of India.

2. The sanctuary’s topography is primarily 
characterized by dense tropical rainforests and 
extensive mangrove swamps.

3. It has been officially recognized as an Important 
Bird Area (IBA) due to its significance for avian 
biodiversity.

How many of the above statements is/are incorrect?
(a) Only one
(b) Only two
(c) All three
(d) None

Q28. Which of the following is the primary purpose 
of the International Monetary Fund’s (IMF) 
Extended Fund Facility (EFF)?
(a) To provide short-term liquidity support to 

countries facing temporary balance of payments 
difficulties.

(b) To offer grants for poverty reduction and social 
development programs in low-income countries.

(c) To facilitate medium-term structural reforms 
in countries experiencing prolonged balance 
of payments problems due to deep economic 
weaknesses.

(d) To fund specific infrastructure development 
projects in member countries.

Q29. Consider the following statements regarding the 
Territorial Army (TA) of India:
1. The Territorial Army is a full-time professional 

military force, similar to the regular Indian Army.
2. The Chief of the Army Staff has always 

possessed the inherent power to fully mobilise 
the Territorial Army without any specific legal 
provision.

3. The Territorial Army primarily recruits individuals 
who are already serving in paramilitary forces.

How many of the above statements is/are correct?
(a) Only one
(b) Only two
(c) All three
(d) None

Q30. Operation Keller, recently in the news, was 
primarily aimed at:
(a) Conducting a large-scale flood relief and rescue 

mission in the Kashmir Valley.
(b) Initiating a dialogue process with local community 

leaders in South Kashmir.
(c) Establishing new Army posts along the Line of 

Control in Jammu & Kashmir.
(d)  Neutralising specific terrorist leadership and 

cadres in the Shopian district.

Q31. Consider the following statements regarding the 
South China Sea disputes:
1. The “nine-dash line” claim by China encompasses 

approximately 50% of the South China Sea and 
is largely accepted under the UN Convention on 
the Law of the Sea (UNCLOS).

2. The Paracel Islands are primarily disputed 
between the Philippines and Malaysia, with China 
playing a mediating role.

3. The Sunda Shelf is the deepest part of the South 
China Sea and is a major area for hydrocarbon 
exploration.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q32. Consider the following statements regarding the 
Green Hydrogen Certification Scheme of India 
(GHCI):
1. The GHCI is implemented by the Ministry of 

Power, with the Bureau of Energy Efficiency 
(BEE) acting as the primary certification body.

2. The scheme mandates a specific greenhouse gas 
(GHG) emission threshold, measured in kg CO2 
equivalent per kg H2, for hydrogen to be certified 
as “green.”

3. Certification under GHCI covers the entire 
lifecycle of green hydrogen, including its production, 
transportation, and storage, to ensure end-to-
end traceability.

4. The scheme is mandatory for all hydrogen 
producers in India, irrespective of whether their 
product is for domestic consumption or exclusively 
for export.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) Only three  (d) All four

Q33. Which one of the following represents the most 
accurate combination of the IUCN Red List status 
and a primary threat for the Red-Crowned Roofed 
Turtle (Batagur kachuga)?
(a) Vulnerable; Incidental capture in fishing nets
(b) Endangered; Competition with invasive turtle 

species
(c) Critically Endangered; Habitat degradation due 

to pollution and sand mining
(d) Near Threatened; Predation of eggs by natural 

predators
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प्रश्न 26. निमिनिनित में स े कौि-स़ी भौगोनिक निशषेता 
नतबबत़ी पठार की सथिाक्र नत स े सामान्तः सृंबद 
िहीं ह?ै

(a)  कचआंगटयंाग पठयार जसेै उचच ऊंचयाई वयाले ठंडे रेकग्तयान
(b)  दकक्ण में कहमयाल् और उतिर में कुनलुन जसेै प्रमुख पव्गत 

श् ृंखलयाओ ंकी उपक्थकत
(c)  कवशेष रूप से दकक्ण-पवूती भयागों में गहरी नदी घयाकट्यँा 

और दररे
(d)  कव्ततृ, नीची तटी् समतल भकूम और मैंग्ोव पयाररक्थकतकी 

तंत्

प्रश्न 27. राष्ट़्ी् चृंबि अभ्ारण् के सृंबृंध में निमिनिनित 
कथिों पर निचार करें :

1. ्ह एक कत्-रयाज्ी् संरकक्त के्त् ह,ै कजसकी देखरेख 
केवल भयारत सरकयार के प्या्गवरण, वन और जलवया्ु 
पररवत्गन मंत्याल् द्यारया की जयाती ह।ै

2. इस अभ्यारण् की ्थलयाकृकत मुख्तः सघन 
उषणककटबंिी् वषया्गवनों और कव्ततृ मैंग्ोव दलदलों से 
्ुक्त ह।ै

3. पक्ी जवै कवकवितया के महतव के कयारण इसे आकिकयाररक 
रूप से एक “महतवपणू्ग पक्ी के्त् (IBA)” के रूप में मयान्तया 
प्रयाप्त ह।ै

इिमें स ेनकति ेकथि गित हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

प्रश्न 28. अृंतरा्मष्ट़्ी् मदु्रा कोष (IMF) की निसताररत निनध 
सनुिधा (EFF) का मखु् उद्शे् ््ा ह?ै

(a)  अ्थया्ी भुगतयान संतुलन संकट से जझू रहे देशों को 
अलपकयाकलक नकदी सहया्तया प्रदयान करनया

(b)  कनमन-आ् वयाले देशों में गरीबी उनमलून और सयामयाकजक 
कवकयास कया ््गरिमों के कलए अनुदयान देनया

(c)  लंबे सम् से भुगतयान संतुलन संकट और गहरी आकथ्गक 
कमजोरर्ों से जझू रहे देशों में मध्कयाकलक संरचनयातमक 
सुियारों को सुगम बनयानया

(d)  सद्् देशों में कवकशष्ट बुकन्यादी ढयंाचया कवकयास 
परर्ोजनयाओ ंको कवतिपोकषत करनया

प्रश्न 29. भारत की प्रादनेशक सिेा (Territorial Army – TA) के 
बारे में निमिनिनित कथिों पर निचार करें :

1. प्रयादेकशक सेनया एक पणू्गकयाकलक पेशेवर सनै् बल ह,ै जो 
कन्कमत भयारती् सेनया के समयान ह।ै

2. सेनया प्रमुख के पयास कबनया ककसी कवशेष कयाननूी प्रयावियान के 
प्रयादेकशक सेनया को पणू्ग रूप से सकरि् करने की अंतकन्गकहत 
शकक्त होती ह।ै

3. प्रयादेकशक सेनया मुख्तः उन व्कक्त्ों की भतती करती ह ैजो 
पहले से ही अि्गसकैनक बलों में सेवया कर रहे होते हैं।

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

प्रश्न 30. हाि ह़ी में चचा्म में रह़ी "ऑपरेशि केिर" (Operation 
Keller) का मखु् उद्शे् ््ा था?

(a)  कशमीर घयाटी में बडे पमैयाने पर बयाढ रयाहत और बचयाव 
अकभ्यान चलयानया

(b)  दकक्ण कशमीर में ्थयानी् समुदया् नेतयाओ ंके सयाथ संवयाद 
प्रकरि्या शुरू करनया

(c)  जमम ूऔर कशमीर में कन्ंत्ण रेखया पर नई सेनया चौकक्यँा 
्थयाकपत करनया

(d)  शोकप्यंा कजले में कवकशष्ट आतंकवयादी नेततृव और कैडर को 
कनकषरि् करनया

प्रश्न 31. दनक्षण च़ीि सागर नििादों के सृंबृंध में निमिनिनित 
कथिों पर निचार करें :

1. चीन द्यारया दयावया की गई "नयाइन डशै लयाइन" दकक्ण 
चीन सयागर के लगभग 50% के्त् को घेरे हुए ह ैऔर इसे 
UNCLOS (समुद्र के कयाननू पर सं्ुक्त रयाषट्र सममेलन) के 
अंतग्गत व्यापक ्वीकृकत प्रयाप्त ह।ै

2. पेरयासेल द्ीपों पर मुख् कववयाद कफलीपींस और मलेकश्या के 
बीच ह,ै और चीन इसमें मध््थ की भकूमकया कनभयातया ह।ै

3. संुडया शेलफ, दकक्ण चीन सयागर कया सबसे गहरया भयाग ह ैऔर 
्ह हयाइड्ोकयाब्गन अनवेषण कया एक प्रमुख के्त् ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं

प्रश्न 32. भारत की ग्ऱीि हाइड्ोजि प्रमाणि ्ोजिा (GHCI) के 
सृंबृंध में निमिनिनित कथिों पर निचार करें :

1. GHCI को कवद्यतु मंत्याल् द्यारया लयाग ू कक्या ग्या ह,ै और 
ऊजया्ग दक्तया ब्रूो (BEE) प्रमुख प्रमयाणन कनकया् ह।ै

2. ्ोजनया के तहत ग्ीन हयाइड्ोजन के प्रमयाणन हेतु एक 
कनकचित ग्ीनहयाउस गसै (GHG) उतसज्गन सीमया कनिया्गररत 
की गई ह,ै जो प्रकत ककलोग्याम हयाइड्ोजन पर ककलोग्याम 
CO2 समतुल् के रूप में मयापी जयाती ह।ै

3. GHCI के अंतग्गत प्रमयाणन में ग्ीन हयाइड्ोजन के उतपयादन, 
पररवहन और भंडयारण की परूी जीवनचरि श्ृंखलया को 
शयाकमल कक्या ग्या ह ैतयाकक पणू्ग पयारदकश्गतया सुकनकचित की 
जया सके।

4. ्ह ्ोजनया भयारत में सभी हयाइड्ोजन उतपयादकों के कलए 
अकनवया ््ग ह,ै चयाहे उनकया उतपयाद घरेल ूउपभोग के कलए हो ्या 
केवल कन्या्गत के कलए।

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) केवल तीन  (d) सभी चयार

प्रश्न 33. िाि मकुुट िाि़ी छत िाि़ी कछुआ (Red-Crowned 
Roofed Turtle – Batagur kachuga) के निए IUCN 
रेर निसट की नसथनत और एक प्रमिु ितरे का सबस े
सट़ीक सृं्ोजि निमिनिनित में स ेकौि-सा ह?ै

(a)  असुरकक्त (Vulnerable); मछली पकडने के जयालों में 
आकक्मक फँसनया

(b)  संकटग््त (Endangered); आरियामक कछुआ प्रजयाकत्ों से 
प्रकत्पिया्ग

(c)  गंभीर रूप से संकटग््त (Critically Endangered); प्रदूषण 
और रेत खनन के कयारण कनवयास ्थयान कया क्रण

(d)  कनकट संकटग््त (Near Threatened); प्रयाकृकतक 
कशकयारर्ों द्यारया अंडों कया कशकयार
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Q34. With reference to the appointment of the Chief 
Justice of India (CJI), consider the following statements:
1. To be eligible for appointment as CJI, a person 

must have served as a Judge of a High Court for 
at least ten years or been an advocate in a High 
Court for at least five years.

2. The Constitution of India prescribes a fixed 
tenure of five years for the office of the Chief 
Justice of India.

3. The President of India can appoint an Acting 
Chief Justice if the office of the CJI is vacant, 
but only after obtaining concurrence from the 
collegium of the five senior-most Supreme Court 
judges.

How many of the above statements is/are correct?
(a) Only one
(b) Only two
(c) All three
(d) None

Q35. Consider the following statements:
1. Starlink is an example of Low Earth Orbit (LEO) 

satellite constellations designed to provide global 
broadband services with significantly lower 
latency than traditional Geostationary Earth 
Orbit (GEO) satellites.

2. A key advantage of LEO satellite internet 
constellations is their inherent immunity to 
weather-related signal disruptions, particularly 
in higher frequency bands.

3. Inter-satellite links using lasers or radio waves 
are crucial for creating a mesh network in space, 
enabling seamless data transfer and reducing 
reliance on numerous ground stations.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q36. Consider the following statements:
Statement-I: The Special 301 Report is an annual 
publication by the World Trade Organization 
(WTO) that identifies countries with inadequate 
protection of intellectual property rights (IPR), 
which negatively impacts global trade.
Statement-II: India’s consistent placement 
on the ‘Priority Watch List’ in the Special 301 
Report is primarily due to concerns regarding its 
pharmaceutical patent laws and high customs duties 
on ICT goods.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q37. Consider the following statements regarding 
Bandhavgarh National Park:
1. The park is located in the Satpura ranges of 

Chhattisgarh and is primarily characterized by 
moist evergreen forests.

2. The park is bisected by the Narmada River, which 
is the primary perennial water source supporting 
its rich biodiversity.

Which of the above statements is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q38. Consider the following statements regarding the 
National Security Advisory Board (NSAB) of India:
1. The NSAB was established as a statutory body 

through an Act of Parliament to provide long-
term strategic inputs.

2. The National Security Advisor (NSA) of India 
serves as the ex-officio Chairman of the National 
Security Advisory Board.

Which of the above statements is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q39. Consider the following statements regarding the 
National Medical Register (NMR):
1. The National Medical Register (NMR) is 

established under the provisions of the Indian 
Medical Council Act, 1956.

2. Enrolment in the NMR is mandatory only for 
doctors practicing in government healthcare 
institutions.

3. One of the primary objectives of the NMR is 
to facilitate the regulation of fee structures for 
medical consultations across India.

How many of the above statements is/are correct?
 (a) Only one
 (b) Only two
 (c) All three
 (d) None

Q40. The primary objective of India’s first inter-state 
cheetah conservation corridor, linking habitats in 
Madhya Pradesh and Rajasthan, is to:
 (a) Exclusively promote cheetah tourism to generate 

revenue for local communities.
(b) Create a fenced enclosure system to prevent 

cheetahs from entering human settlements.
(c) Enable seamless and natural movement of 

cheetahs across a larger landscape, fostering a 
viable metapopulation.

 (d) Relocate all existing tigers from the involved 
sanctuaries to make exclusive space for cheetahs.
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प्रश्न 34. भारत के मखु् न्ा्ाध़ीश (CJI) की नि्नुक्त के सृंबृंध 
में निमिनिनित कथिों पर निचार करें :

1. CJI के रूप में कन्ुकक्त के कलए पयात्तया हेतु व्कक्त को उचच 
न्या्याल् कया न्या्यािीश कम से कम 10 वषषों तक ्या 
उचच न्या्याल् में अकिवक्तया कम से कम 5 वषषों तक रहनया 
आवश्क ह।ै

2. भयारत के संकवियान में मुख् न्या्यािीश के पद की पयंाच वष्ग 
की कनकचित अवकि कनिया्गररत ह।ै

3. ्कद CJI कया पद ररक्त हो, तो भयारत कया रयाषट्रपकत, केवल 
उचचतम न्या्याल् के पयँाच वररष्ठतम न्या्यािीशों के 
कॉलेकज्म की सहमकत प्रयाप्त करने के बयाद ही कया ््गकयारी 
मुख् न्या्यािीश कन्ुक्त कर सकतया ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

प्रश्न 35. निमिनिनित कथिों पर निचार करें :
1. ्टयारकलंक एक कनमन पथृवी कक्या (LEO) उपग्ह समहू 

कया उदयाहरण ह,ै जो पयारंपररक भू् थकैतक (GEO) उपग्हों 
की तुलनया में बहुत कम कवलंबतया के सयाथ वकैश्वक ब्ॉडबैंड 
सेवयाएं प्रदयान करने हेतु कडज़याइन कक्या ग्या ह।ै

2. LEO उपग्ह इंटरनेट समहूों की एक प्रमुख कवशेषतया ्ह 
ह ैकक ्े कवशेष रूप से उचच आवकृति बैंड में मौसम संबंकित 
व्वियानों से परूी तरह सुरकक्त होते हैं।

3. उपग्हों के बीच लेजर ्या रेकड्ो तरंगों के मयाध्म से कलंक 
्थयाकपत करनया अंतररक् में एक मेष नेटवक्ग  बनयाने के कलए 
महतवपणू्ग होतया ह,ै जो डेटया ट्रयंासफर को कनबया्गि बनयातया 
ह ै और ज़मीन आियाररत ्टेशनों पर कनभ्गरतया को कम 
करतया ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

प्रश्न 36. निमिनिनित कथिों पर निचार करें :
कथि-I: सपशेि 301 ररपोट्म निवि व्ापार सृंगठि (WTO) 
द्ारा प्रकानशत एक िानष्मक ररपोट्म ह,ै जो उि दशेों की 
पहचाि करत़ी ह ैजहाँ बौनदक सृंपदा अनधकारों (IPR) की 
अप्ा्मति सरुक्षा िनैविक व्ापार को प्रभानित करत़ी ह।ै
कथि-II: सपशेि 301 ररपोट्म में भारत को िगातार 
‘प्राथनमक निगराि़ी सलूच़ी’ में रिा ग्ा ह,ै नजसका प्रमिु 
कारण उसकी औषध़ी् पटेेंट ि़ीनत्ों और ICT िसतओु ृं पर 
उचच स़ीमा शलु्क ह।ै
इिमें स ेकौि-सा निकल्प सह़ी ह?ै
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं, परंतु कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही ह ैजबकक कथन-II गलत है
(d)  कथन-I गलत ह ैजबकक कथन-II सही है

प्रश्न 37. बाृंधिगढ राष्ट़्ी् उद्ाि के सृंबृंध में निमिनिनित 
कथिों पर निचार करें :

1. ्ह उद्ययान छतिीसगढ के सतपुडया पव्गत शे्णी में क्थत ह ैऔर 
मुख्तः नम सदयाबहयार वनों से ्ुक्त ह।ै

2. ्ह उद्ययान नम्गदया नदी द्यारया दो भयागों में कवभयाकजत ह,ै जो 
इसकी समधृि जवै कवकवितया के कलए प्रयाथकमक जल स्ोत ह।ै

इिमें स ेकौि-स ेकथि सह़ी हैं?
(a) केवल 1
(b) केवल 2
(c) दोनों 1 और 2
(d) न तो 1 और न ही 2

प्रश्न 38. भारत के राष्ट़्ी् सरुक्षा सिाहकार बोर्म (NSAB) के 
सृंबृंध में निमिनिनित कथिों पर निचार करें :

1. NSAB को संसद के अकिकन्म द्यारया एक विैयाकनक कनकया् 
के रूप में ्थयाकपत कक्या ग्या थया, तयाकक दीघ्गकयाकलक 
रणनीकतक सुझयाव कदए जया सकें ।

2. भयारत के रयाषट्री् सुरक्या सलयाहकयार (NSA) NSAB के पदेन 
अध्क् होते हैं।

इिमें स ेकौि-स ेकथि सह़ी हैं?
(a) केवल 1
(b) केवल 2
(c) दोनों 1 और 2
(d) न तो 1 और न ही 2

प्रश्न 39. राष्ट़्ी् नचनकतसा रनजसटर (NMR) के सृंबृंध में 
निमिनिनित कथिों पर निचार करें :

1. NMR भयारती् कचककतसया पररषद अकिकन्म, 1956 के 
प्रयावियानों के अंतग्गत ्थयाकपत कक्या ग्या ह।ै

2. NMR में पंजीकरण केवल उन डॉकटरों के कलए अकनवया ््ग ह ै
जो सरकयारी ्वया्थ् सं्थयानों में कया ््गरत हैं।

3. NMR कया एक प्रमुख उदे्श् परेू भयारत में कचककतसया परयामश्ग 
शुलक की संरचनया को कवकन्कमत करनया ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

प्रश्न 40. मध् प्रदशे और राजसथाि के ब़ीच भारत की पहि़ी 
अृंतर-राज़्ी् च़ीता सृंरक्षण गनि्ारे का मखु् उद्शे् 
््ा ह?ै

(a)  केवल ्थयानी् समुदया्ों के कलए रयाज्व सजृन हेतु चीतया 
प ््गटन को बढयावया देनया

(b)  चीतों को मयानव बक्त्ों में प्रवेश से रोकने के कलए बयाडबंदी 
प्रणयाली बनयानया

(c)  चीतों के कनबया्गि और ्वयाभयाकवक आवयागमन को सक्म 
बनयानया, कजससे एक व्वहया ््ग मेटया-जनसंख्या बन सके

(d)  संबंकित अभ्यारण्ों से सभी मौजदूया बयाघों को ्थयानयंातररत 
करनया तयाकक चीतों के कलए कवकशष्ट ्थयान बन सके
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Q41. In agriculture, Nano Sulphur is primarily used for 
which of the following purposes?
1. As a broad-spectrum fungicide.
2. As a nitrogen-fixing agent in soil.
3. As a micronutrient supplement.
4. As an insecticide against specific pests.
How many of the above statements is/are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

Q42. Which of the following is a key feature of the Next-
Generation Health Management Information 
System (HMIS) for Central Government Health 
Scheme (CGHS) beneficiaries?
 (a) Mandatory physical verification of all beneficiaries 

annually.
 (b) PAN-based unique identification of beneficiaries.
 (c)  Decentralized medicine procurement and 

distribution.
 (d) Exclusive access to private hospitals empanelled 

under CGHS.

Q43. Consider the following sources of PM10 pollution:
1. Direct emissions from vehicles (primary particles).
2. Formation from gaseous pollutants like SO2 and 

NOx (secondary particles).
3. Wind-blown dust from construction sites.
Which of the above contribute to PM10 pollution?
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1, 2, and 3

Q44. According to the US Constitution, if both the 
President and the Vice President are unable to 
discharge the powers and duties of the office, who 
is next in the line of succession?
(a) The President Pro Tempore of the Senate.
(b) The Chief Justice of the Supreme Court.
(c) The Secretary of State.
(d) The Speaker of the House of Representatives.

Q45. What are the expected benefits of implementing the 
Next-Generation Health Management Information 
System (HMIS) for Central Government Health 
Scheme (CGHS)?
1. Improved service delivery and administrative 

efficiency.
2. Elimination of duplicate records and streamlined 

entitlements.
3. Real-time digital access to health information 

for beneficiaries.
4. Complete autonomy for individual beneficiaries 

in choosing empanelled hospitals.
Which of the statements given above is/are correct?
(a) 1, 2, and 3 only  (b) 2, 3, and 4 only
(c) 1 and 4 only  (d) 1, 2, 3, and 4

Q46. With reference to the SAARC Visa Exemption 
Scheme (SVES), which of the following statements 
is correct?
(a) It allows all citizens of SAARC countries to travel 

without a visa to any other SAARC nation.
(b) It is applicable only to government officials of 

SAARC member states.
(c) It grants special visa-free entry to specified 

categories of people from SAARC countries.
(d) It was introduced after 2015 to boost tourism in 

South Asia.

Q47. The HAL Dhruv helicopter, often seen in news, is:
(a) a single-engine attack helicopter developed with 

Russian assistance.
(b) a twin-engine utility helicopter indigenously 

developed in India.
(c) a heavy-lift transport helicopter jointly built by 

India and the USA.
(d) an unmanned helicopter used by the Indian Navy.

Q48. Indus Waters Treaty (IWT) of 1960 has been in 
news. Which of the following statements about the 
treaty is/are correct?
1. It allocated the water of three “eastern” rivers of 

the Indus system to India, and the three “western” 
rivers primarily to Pakistan.

2. It allows India to construct run-of-river 
hydropower projects on the western rivers within 
specified design constraints.

3. It permits either country to unilaterally suspend 
and exit the treaty at any time.

Select the correct answer using the code below:
(a) 1 and 2 only  (b) 1 and 3 only
(c) 2 and 3 only  (d) 1, 2 and 3

Q49. Consider the following statements:
1. The Kashmir Valley is drained by the Jhelum 

River.
2. Pahalgam is situated at the confluence of a stream 

from Sheshnag Lake and the Lidder River.
3. The Pir Panjal Range lies to the northeast of the 

Kashmir Valley.
How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q50. Which of the following statements about the Sea 
of Marmara is/are correct?
1. It is an inland sea located entirely within the 

territory of Turkey.
2. It connects the Black Sea to the Aegean Sea 

through the Bosporus and Dardanelles straits.
3. It lies along a major fault line, making the region 

prone to frequent earthquakes.
4. It is one of the largest seas in the world by surface 

area.
Select the correct answer using the code below:
(a) 1, 2 and 3 only  (b) 1, 2 and 4 only
(c) 2, 3 and 4 only  (d) 1, 2, 3 and 4
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प्रश्न 41. क्र नष में ििैो सल्फर का उप्ोग मखु्तः निमिनिनित 
में स ेनकि उद्शे्ों के निए नक्ा जाता ह?ै

1. एक व्यापक-प्रभयावी कवकनयाशी (Fungicide) के रूप में
2. कमट्ी में नयाइट्रोजन क्थर करने वयाले एजेंट के रूप में
3. एक सकू्म पोषक ततव अनुपरूक (Micronutrient 

Supplement) के रूप में
4. कवकशष्ट कीटों के कवरुधि एक कीटनयाशक के रूप में
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) केवल तीन
(d) सभी चयार

प्रश्न 42. कें द्ऱी् सरकाऱी सिास्थ् ्ोजिा (CGHS) िाभानथ्म्ों 
के निए अगि़ी प़ीढ़ी की सिास्थ् प्रबृंधि सलूचिा 
प्रणाि़ी (HMIS) की एक प्रमिु निशषेता ््ा ह?ै

(a)  सभी लयाभयाकथ्ग्ों कया वयाकष्गक अकनवया ््ग भौकतक सत्यापन।
(b)  लयाभयाकथ्ग्ों की पहचयान के कलए PAN आियाररत अकद्ती् 

पहचयान।
(c)  decentralised दवया खरीद और कवतरण।
(d)  केवल CGHS से सचूीबधि कनजी अ्पतयालों तक कवशेष पहँुच।

प्रश्न 43. निमिनिनित में स ेकौि PM10 प्रदलूषण के स्ोत हैं?
1. वयाहनों से सीिे उतसज्गन (प्रयाथकमक कण)।
2. SO2 और NOx जसेै गसैी् प्रदूषकों से कनमया्गण (कद्ती्क 

कण)।
3. कनमया्गण ्थलों से उडती िलू।
सह़ी उत्र चनुिए:
(a) केवल 1 और 2
(b) केवल 2 और 3
(c) केवल 1 और 3
(d) 1, 2 और 3

प्रश्न 44. अमरेरकी सृंनिधाि के अिसुार, ्नद राष्ट्पनत और 
उपराष्ट्पनत दोिों अपि ेकत्मव्ों का निि्महि करि ेमें 
असमथ्म हों, तो उत्रानधकार की पृंनक्त में अगिा कौि 
होता ह?ै

(a) सीनेट कया प्रो टेमपोर अध्क्
(b) सवमोचच न्या्याल् कया मुख् न्या्यािीश
(c) कवदेश सकचव
(d) प्रकतकनकि सभया कया अध्क्

प्रश्न 45. कें द्ऱी् सरकाऱी सिास्थ् ्ोजिा (CGHS) के निए 
अगि़ी प़ीढ़ी की सिास्थ् प्रबृंधि सलूचिा प्रणाि़ी 
(HMIS) को िागलू करि ेस ेअपनेक्षत िाभ ््ा हैं?

1. सेवया कवतरण और प्रशयासकनक दक्तया में सुियार।
2. डुक्लकेट ररकॉड्ग  को समयाप्त करनया और अकिकयारों कया 

सुव्वक्थत प्रबंिन।
3. लयाभयाकथ्ग्ों को ्वया्थ् जयानकयारी तक वया्तकवक सम् में 

कडकजटल पहँुच।
4. सचूीबधि अ्पतयालों को चुनने में लयाभयाकथ्ग्ों को पणू्ग 

्वया्तितया।
सह़ी उत्र चनुिए:
(a) केवल 1, 2 और 3  (b) केवल 2, 3 और 4
(c) केवल 1 और 4  (d) 1, 2, 3 और 4

प्रश्न 46. SAARC ि़ीजा छलू ट ्ोजिा (SVES) के सृंदभ्म में 
निमिनिनित में स ेकौि सा कथि सह़ी ह?ै

(a)  ्ह SAARC देशों के सभी नयागररकों को अन् SAARC 
रयाषट्रों में कबनया वीज़या ्यात्या की अनुमकत देतया ह।ै

(b)  ्ह केवल SAARC सद्् देशों के सरकयारी अकिकयारर्ों 
पर लयाग ूहोती ह।ै

(c)  ्ह SAARC देशों के कवकशष्ट शे्कण्ों के लोगों को कवशेष 
वीज़या-मुक्त प्रवेश प्रदयान करती ह।ै

(d)  इसे 2015 के बयाद दकक्ण एकश्या में प ््गटन को बढयावया देने 
के कलए शुरू कक्या ग्या थया।

प्रश्न 47. HAL ध्िु हिे़ीकॉपटर, जो हाि ह़ी में समाचारों में था, 
््ा ह?ै

(a)  रूस की सहया्तया से कवककसत एक कसंगल-इंजन हमलया 
हेलीकॉ्टर।

(b)  भयारत में ्वदेशी रूप से कवककसत एक ट्कवन-इंजन 
्कूटकलटी हेलीकॉ्टर।

(c)  भयारत और अमेररकया द्यारया सं्ुक्त रूप से कनकम्गत एक भयारी 
मयालवयाहक हेलीकॉ्टर।

(d)  भयारती् नौसेनया द्यारया प्र्ुक्त एक मयानवरकहत हेलीकॉ्टर।

प्रश्न 48. 1960 की नसृंध ुजि सृंनध (Indus Waters Treaty) के बारे 
में निमिनिनित में स ेकौि स ेकथि सह़ी हैं?

1. इसने कसंिु प्रणयाली की तीन "पवूती" नकद्ों कया जल भयारत को 
और तीन "पकचिमी" नकद्ों कया जल मुख्तः पयाकक्तयान 
को आवंकटत कक्या।

2. ्ह भयारत को कनिया्गररत कडज़याइन सीमयाओ ंके भीतर पकचिमी 
नकद्ों पर रन-ऑफ-ररवर जलकवद्यतु परर्ोजनयाओ ं के 
कनमया्गण की अनुमकत देती ह।ै

3. ्ह ककसी भी देश को ककसी भी सम् एकतरफया तरीके से 
संकि को कनलंकबत ्या समयाप्त करने की अनुमकत देती ह।ै

सह़ी उत्र चनुिए:
(a) केवल 1 और 2  (b) केवल 1 और 3
(c) केवल 2 और 3  (d) 1, 2 और 3

प्रश्न 49. निमिनिनित कथिों पर निचार करें :
1. कशमीर घयाटी को झेलम नदी द्यारया कनकयासी प्रदयान की 

जयाती ह।ै
2 पहलगयाम शेषनयाग झील से कनकलने वयाली एक ियारया और 

कलद्र नदी के संगम पर क्थत ह।ै
3. पीर पंजयाल शे्णी कशमीर घयाटी के उतिर-पवू्ग में क्थत ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं

प्रश्न 50. मरमारा सागर के बारे में निमिनिनित में स ेकौि स े
कथि सह़ी हैं?

1. ्ह एक अंतदरेशी् सयागर ह ैजो परूी तरह से तुकती की सीमया 
के भीतर क्थत ह।ै

2. ्ह कयालया सयागर को एकज्न सयागर से बो्फोरस और 
डयाडया्गनेलस जलडमरूमध् के मयाध्म से जोडतया ह।ै

3. ्ह एक प्रमुख फॉलट लयाइन के पयास क्थत ह,ै कजससे ्ह 
के्त् बयार-बयार भकंूप की चपेट में आतया ह।ै

4. ्ह सतह के्त् के आियार पर दुकन्या के सबसे बडे सयागरों में 
से एक ह।ै

सह़ी उत्र चनुिए:
(a) केवल 1, 2 और 3  (b) केवल 1, 2 और 4
(c) केवल 2, 3 और 4  (d) 1, 2, 3 और 4
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Q51. Consider the following statements regarding the 
newly developed non-contact wearable device for 
health monitoring:
1. The device primarily measures internal physiological 

parameters like heart rate and blood oxygen 
saturation without skin contact.

2. It employs a sealed chamber creating a microclimate 
adjacent to the skin to measure molecular flux.

3. One of its significant applications includes monitoring 
wound healing, particularly in diabetic patients.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q52. With reference to the Archaeological Survey of 
India (ASI), consider the following statements:
1. The ASI was founded during the viceroyalty 

of Lord Curzon, who was known for his keen 
interest in preserving India’s ancient monuments.

2. The ASI operates as an autonomous body directly 
under the Prime Minister’s Office (PMO) 
to ensure its independence in archaeological 
research.

3. The logo of the ASI is inspired by the Lion 
Capital of Ashoka, symbolizing India’s sovereign 
authority and ancient heritage.

4. One of the core functions of the ASI is the 
conservation of ancient monuments notified under 
the Ancient Monuments and Archaeological 
Sites and Remains Act, 1958.

How many of the above statements are incorrect?
(a) Only one  (b) Only two
(c) Only three  (d) All four

Q53.Consider the following statements regarding the 
Sacred Relics of Lord Buddha:
1. Paribhogika relics refer exclusively to the physical 

bodily remains of Gautama Buddha, such as 
bones and teeth.

2. The National Museum of India is the sole 
custodian and curator of all authenticated Sacred 
Relics of Lord Buddha found globally.

3. The sharing of these relics with other nations is 
primarily managed by the International Buddhist 
Confederation (IBC) without the involvement 
of the Indian government.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q54. With reference to the report “Enhancing MSMEs 
Competitiveness in India” by NITI Aayog, consider 
the following statements:
1. The report indicates that despite improvements, 

the vast majority of MSMEs in India still lack 
access to formal credit channels.

2. The report was prepared solely by NITI Aayog 
without collaboration from any external research 
institutions.

Which of the above statements is/are correct?
(a) 1 only   (b) 2 only
(c) Both 1 and 2  (d) Neither 1 nor 2

Q55.Consider the following statements regarding 
Vizhinjam International Seaport
Statement-I: The Vizhinjam International Seaport 
is strategically positioned to become a major 
transshipment hub, potentially reducing India’s 
dependence on foreign ports like Colombo and 
Singapore.
Statement-II: The port boasts a significant natural 
depth, thus allowing it to handle next-generation 
ultra-large container vessels (ULCVs).
Which one of the following is correct in respect of 
the above statements?
 (a)  Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

 (b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

 (c)  Statement-I is correct but Statement-II is incorrect
 (d) Statement-I is incorrect but Statement-II is correct

Q56. Consider the following statements.
Statement-I: The Satavahana rulers issued coins 
with ship motifs, reflecting their engagement in 
maritime trade and navigation.
Statement-II: The Krishna-Godavari delta, a core 
region of the Satavahana empire, was a highly 
fertile rice-producing zone, which provided a strong 
agrarian base supporting their economic activities, 
including trade.
Which one of the following is correct in respect of 
the above statements?
 (a)  Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

 (b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

 (c)  Statement-I is correct but Statement-II is incorrect
 (d) Statement-I is incorrect but Statement-II is correct

Q57. Consider the following statements regarding the 
Palamu Tiger Reserve (PTR):
1. The reserve is primarily characterized by Himalayan 

moist temperate forests and alpine meadows.
2. The Burha river, one of the major rivers draining 

the reserve, is an ephemeral river that flows only 
during the monsoon season.

3. The geological formations in PTR are composed 
of Gondwana formations and other rock types 
such as Gneiss and Quartzite.

Which of the above statements is/are correct?
(a) 2 and 3 only
(b) 1 and 3 only
(c) 3 only
(d) 1, 2 and 3
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प्रश्न 51. हाि ह़ी में निकनसत िॉि-कॉनटै् ट पहिि े ्ोग् 
सिास्थ् निगराि़ी उपकरण के सृंदभ्म में निमिनिनित 
में स ेकौि स ेकथि सह़ी हैं?

1. ्ह उपकरण तवचया के संपक्ग  के कबनया हृद् गकत और रक्त 
ऑकसीजन संतकृप्त जसेै आंतररक शयारीररक मयापदंडों को 
मयापतया ह।ै

2. ्ह तवचया के पयास एक मयाइरिोकलयाइमेट बनयाने वयाले सीलड 
चैंबर कया उप्ोग करतया ह ै तयाकक आणकवक फलकस को 
मयापया जया सके।

3. इसकया एक प्रमुख उप्ोग मिुमेह रोकग्ों में घयाव भरने की 
कनगरयानी में ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं

प्रश्न 52. भारत़ी् परुातति सिवेक्षण (ASI) के सृंदभ्म में 
निमिनिनित कथिों पर निचार करें :

1. ASI की ्थयापनया लॉड्ग  कज्गन के वया्सरॉ् कयाल के दौरयान 
की गई थी, जो भयारत के प्रयाचीन ्मयारकों को संरकक्त 
करने में रुकच रखते थे।

2. ASI प्रियानमंत्ी कया्या्गल् (PMO) के अंतग्गत एक ्वया्ति 
कनकया् के रूप में कया ््ग करतया ह।ै

3. ASI कया लोगो अशोक की कसंह ्तंभ से पे्रररत ह,ै जो भयारत 
की संप्रभुतया और प्रयाचीन कवरयासत कया प्रतीक ह।ै

4. ASI कया एक प्रमुख कया ््ग 1958 के प्रयाचीन ्मयारक एवं 
पुरयातयाकतवक ्थलों और अवशेष अकिकन्म के अंतग्गत 
अकिसकूचत प्रयाचीन ्मयारकों कया संरक्ण करनया ह।ै

इिमें स ेनकति ेकथि गित हैं?
(a) केवल एक  (b) केवल दो
(c) केवल तीन  (d) सभी चयार

प्रश्न 53. भगिाि बदु के पनित्र अिशषेों के सृंदभ्म में निमिनिनित 
कथिों पर निचार करें :

1. पररभोकगकया अवशेष कवशेष रूप से गौतम बुधि के शयारीररक 
अवशेषों जसेै कक अक्थ्यँा और दयँात होते हैं।

2 भयारत कया रयाषट्री् संग्हयाल् कवश्व ्तर पर पयाए गए सभी 
प्रयामयाकणक पकवत् अवशेषों कया एकमयात् संरक्क और 
प्रदश्गक ह।ै

3. इन अवशेषों को अन् देशों के सयाथ सयाझया करने की 
प्रकरि्या मुख् रूप से इंटरनेशनल बौधि पररसंघ (IBC) द्यारया 
संचयाकलत होती ह,ै कजसमें भयारत सरकयार की कोई भकूमकया 
नहीं होती।

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं

प्रश्न 54. ि़ीनत आ्ोग की ररपोट्म "भारत में MSMEs की 
प्रनतसपधा्मतमकता बढािा" के सृंदभ्म में निमिनिनित 
में स ेकौि स ेकथि सह़ी हैं?

1. ररपोट्ग में संकेत कद्या ग्या ह ैकक सुियारों के बयावजदू, भयारत 
में अकिकयंाश MSMEs अभी भी औपचयाररक ऋण चनैलों तक 
पहँुच से वंकचत हैं।

2. ्ह ररपोट्ग केवल नीकत आ्ोग द्यारया तै् यार की गई थी, 
ककसी भी बयाहरी अनुसंियान सं्थयान के सह्ोग के कबनया।

सह़ी उत्र चनुिए:
(a) केवल 1   (b) केवल 2
(c) दोनों 1 और 2  (d) न तो 1 और न ही 2

प्रश्न 55. निनजृंजम अृंतरा्मष्ट़्ी् बृंदरगाह के सृंदभ्म में कथि:

कथि-I: निनजृंजम अृंतरा्मष्ट़्ी् बृंदरगाह को एक प्रमिु 

ट्ाृंसनशपमेंट कें द्र के रूप में रणि़ीनतक रूप स ेतै् ार नक्ा 

ग्ा ह,ै जो भारत की कोिृंबो और नसृंगापरु जसै े निदशे़ी 

बृंदरगाहों पर निभ्मरता को कम कर सकता ह।ै

कथि-II: इस बृंदरगाह की एक निशषे निशषेता इसकी 

गहराई ह,ै जो इस ेअगि़ी प़ीढ़ी के बड ेकृं टिेर जहाजों को 

सृंभािि ेमें सक्षम बिात़ी ह।ै

इि दोिों कथिों के सृंदभ्म में सह़ी निकल्प चनुिए:

(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है

(b)  दोनों कथन सही हैं लेककन कथन-II, कथन-I की सही 

व्याख्या नहीं है

(c)  कथन-I सही ह ैलेककन कथन-II गलत है

(d)  कथन-I गलत ह ैलेककन कथन-II सही है

प्रश्न 56. कथि-I: सातिाहि शासकों ि े जहाजों की आक्र नत 

िाि े नस्के जाऱी नकए, जो उिके समदु्ऱी व्ापार और 

िौिहि में सृंिगिता को दशा्मत ेहैं।

कथि-II: क्र ष्णा-गोदािऱी रले्टा, सातिाहि साम्ाज् का 

एक प्रमिु क्षते्र था, जो एक अत ृ्ंत उपजाऊ चािि उतपादक 

क्षते्र था, नजसि ेउिके आनथ्मक नरि्ाकिापों को समथ्मि 

नद्ा।

सह़ी उत्र चनुिए:

(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है

(b)  दोनों कथन सही हैं लेककन कथन-II, कथन-I की सही 

व्याख्या नहीं है

(c)  कथन-I सही ह ैलेककन कथन-II गलत है

(d)  कथन-I गलत ह ैलेककन कथन-II सही है

प्रश्न 57. पािति टाइगर ररजि्म (Palamu Tiger Reserve – PTR) 

के सृंदभ्म में निमिनिनित कथिों पर निचार करें :

1. ्ह ररज़व्ग मुख् रूप से कहमयाल्ी आद्र्ग समशीतोषण वन 

और अलपयाइन घयास के मदैयानों की कवशेषतया रखतया ह।ै

2. बुरहया नदी, जो ररज़व्ग की एक प्रमुख नदी ह,ै एक मौसमी 

नदी ह ैजो केवल मयानसनू में बहती ह।ै

3. PTR की भवूजै्याकनक संरचनया गोंडवयानया संरचनयाओ ं और 

गनयाइस, कवयाट््गजयाइट जसेै अन् शलै प्रकयारों से बनी ह।ै

इिमें स ेकौि स ेकथि सह़ी हैं?

(a) केवल 2 और 3

(b) केवल 1 और 3

(c) केवल 3

(d) 1, 2 और 3
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Q58. With reference to the National Human Rights 
Commission (NHRC) of India, consider the 
following statements:
1. The Chairperson of the NHRC must be a retired 

Chief Justice of India, and no other retired 
Supreme Court Judge is eligible for this position.

2. The recommendations made by the NHRC 
regarding human rights violations are binding on 
the concerned government or authority.

3. The NHRC can investigate an alleged human 
rights violation if the complaint is made within 
two years of the incident.

How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) All three  (d) None

Q59. Consider the following statements regarding 
Bhakra Dam.
Statement-I: The Bhakra Dam was primarily 
conceived to address the recurrent flood menace in 
the Sutlej valley.
Statement-II: The Sutlej River is a trans-Himalayan 
river that maintains a consistent flow due to its origin 
in glacier-fed lakes, making it suitable for large-scale 
multi-purpose river valley projects.
Which one of the following is correct in respect of 
the above statements?
 (a)  Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

 (b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

 (c)  Statement-I is correct but Statement-II is incorrect
 (d) Statement-I is incorrect but Statement-II is correct

Q60. With reference to the World Audio Visual 
Entertainment Summit (WAVES), consider the 
following statements:
1. WAVES is an initiative exclusively focused on 

promoting Indian classical music and dance 
forms on a global platform.

2. A primary objective of the summit is to facilitate 
B2B transactions and content deals within the 
broader media and entertainment sector.

Which of the above statements is/are correct?
(a) 1 only   (b) 2 only
(c) Both 1 and 2  (d) Neither 1 nor 2

Q61. Consider the following statements regarding 
Automatic Number Plate Recognition (ANPR).
Statement-I: ANPR systems help improve road tax 
compliance and traffic law enforcement.
Statement-II: They rely on blockchain-based 
registries for immutable vehicle identification.
Select the correct answer code:
(a)  Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b)  Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c)  Statement-I is correct but Statement-II is incorrect
(d)  Statement-I is incorrect but Statement-II is correct

Q62. Consider the following statements regarding 
Global Navigation Satellite System (GNSS) 
integration in tolling:
1. GNSS cannot be used in tunnels or under dense 

foliage.
2. GNSS tolling allows real-time feedback on road 

conditions to drivers.
3. GNSS allows seamless interoperability across 

countries using different satellite systems.
How many of the above statements is/are correct?
(a) Only one
(b) Only two
(c) All three
(d) None

Q63. Consider the following statements regarding 
Khadi and Village Industries Commission (KVIC):
1. KVIC was originally established as part of the 

Planning Commission.
2. KVIC supplies raw materials and offers artisan 

training.
3. It undertakes R&D to promote renewable energy 

use in rural industries.
4. KVIC has the authority to conduct market 

linkage campaigns and retail promotions.
How many of the above statements is/are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

Q64. Consider the following statements regarding the 
objectives and design of the HEALD initiative, 
recently in news:
1. It promotes liver transplant surgeries under a 

subsidized scheme.
2. It aims to integrate liver health into national 

health policies.
3. Community outreach under HEALD focuses on 

underprivileged populations.
How many of the above statements is/are correct?
(a) Only one
(b) Only two
(c) All three
(d) None

Q65. Consider the following statements regarding the 
Eighth Schedule of the Indian Constitution.
1. Inclusion in the Eighth Schedule ensures use of 

the language in the UPSC Civil Services Exam.
2. Sanskrit is one of the 22 languages listed in the 

Schedule.
3. Inclusion in the Schedule mandates its use in 

primary education across India.
4. English was added to the Eighth Schedule after 

liberalization in 1991.
How many of the above statements is/are correct?
(a) Only one  (b) Only two
(c) Only three  (d) All four
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Q58. भारत के राष्ट़्ी् माििानधकार आ्ोग (NHRC) के सृंदभ्म 
में निमिनिनित कथिों पर निचार करें :

1. NHRC कया अध्क् केवल भयारत के सेवयाकनवतृि मुख् 
न्या्यािीश हो सकते हैं, अन् कोई सेवयाकनवतृि सवमोचच 
न्या्याल् के न्या्यािीश इस पद के कलए पयात् नहीं हैं।

2. NHRC द्यारया मयानवयाकिकयार उललंघन पर की गई कसफयाररशें 
संबंकित सरकयार अथवया प्रयाकिकरण के कलए बयाध्कयारी 
होती हैं।

3. NHRC ककसी मयानवयाकिकयार उललंघन की जयंाच तभी कर 
सकतया ह ैजब कशकया्त घटनया के दो वषषों के भीतर की गई हो।

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

Q59. भािडा बाृंध के सृंदभ्म में निमिनिनित कथिों पर निचार 
करें :

कथि-I: भािडा बाृंध का मलूि उद्शे् सतिज घाट़ी में बार-
बार आि ेिाि़ी बाढ की समस्ा का समाधाि करिा था।
कथि-II: सतिज िद़ी एक ट्ाृंस-नहमाि्ि िद़ी ह ै जो 
नहमिद-आधाररत झ़ीिों स े निकित़ी ह,ै नजसस े ्ह बड े
पमैाि ेपर बहुउद्शे़ी् िद़ी परर्ोजिाओ ृं के निए उप्कु्त 
बित़ी ह।ै
इिमें स ेकौि सा सह़ी ह?ै
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं लेककन कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही है
(d)  केवल कथन-II सही है

Q60. िल्र्म ऑनर्ो निजुअि एृंटरटिेमेंट सनमट (WAVES) के 
सृंदभ्म में निमिनिनित में स ेकौि सा कथि सह़ी ह?ै

1. WAVES कया उदे्श् केवल भयारती् शयास्ती् संगीत और 
नतृ् को वकैश्वक मंच पर बढयावया देनया ह।ै

2. इस कशखर सममेलन कया प्रमुख उदे्श् मीकड्या और 
मनोरंजन के्त् में B2B लेनदेन और सयामग्ी समझौते को 
बढयावया देनया ह।ै

(a) केवल 1
(b) केवल 2
(c) दोनों 1 और 2
(d) न तो 1 और न ही 2

Q61. सिचानित िृंबर पिटे पहचाि (ANPR) के सृंदभ्म में:
कथि-I: ANPR प्रणाि़ी सडक कर अिपुािि और ट्नैफक 
कािलूि प्रित्मि में सधुार करत़ी ह।ै
कथि-II: ् े बिॉकचिे-आधाररत रनजनसट््ों पर निभ्मर 
करत़ी हैं जो िाहि पहचाि को अपररित्मि़ी् बिात़ी हैं।
सह़ी उत्र चिुें:
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं लेककन कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही है
(d)  केवल कथन-II सही है

Q62. GNSS टोनिृंग के सृंदभ्म में निचार करें :
1. GNSS कया उप्ोग सुरंगों ्या घने वकृ्ों वयाले के्त्ों में नहीं 

कक्या जया सकतया।
2. GNSS टोकलंग चयालक को सडक की क्थकत पर वया्तकवक 

सम् में फीडबकै देती ह।ै
3. GNSS कवकभनन देशों के सटेैलयाइट कस्टम के सयाथ 

अंतरसंचयालनी्तया की अनुमकत देती ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

Q63. िाद़ी और ग्रामोद्ोग आ्ोग (KVIC) के सृंदभ्म में:
1. KVIC की ्थयापनया ्ोजनया आ्ोग के अिीन की गई थी।
2. ्ह कचचे मयाल की आपकूत्ग करतया ह ै और कयारीगरों को 

प्रकशक्ण देतया ह।ै
3. ्ह ग्यामीण उद्योगों में नवीकरणी् ऊजया्ग के उप्ोग को 

बढयावया देने हेतु अनुसंियान एवं कवकयास करतया ह।ै
4. KVIC को कवपणन अकभ्यानों और खुदरया प्रचयार कया 

संचयालन करने कया अकिकयार प्रयाप्त ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) केवल तीन
(d) सभी चयार

Q64. HEALD पहि के उद्शे्ों के सृंदभ्म में निचार करें :
1. ्ह सकबसडी ्ोजनया के तहत कलवर प्रत्यारोपण सज्गरी को 

बढयावया देती ह।ै
2. ्ह रयाषट्री् ्वया्थ् नीकत्ों में कलवर ्वया्थ् को शयाकमल 

करने कया प्र्यास करती ह।ै
3. HEALD के तहत सयामुदयाक्क पहंुच कवशेष रूप से वंकचत 

वगषों पर कें कद्रत ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

Q65. सृंनिधाि की आठिीं अिसुलूच़ी के सृंदभ्म में:
1. आठवीं अनुसचूी में शयाकमल भयाषयाओ ंको कसकवल सेवया परीक्या 

(UPSC) में उप्ोग करने की अनुमकत ह।ै
2. सं्कृत इस अनुसचूी में सचूीबधि 22 भयाषयाओ ंमें से एक ह।ै
3. इस अनुसचूी में शयाकमल होने से ्ह परेू भयारत में प्रयाथकमक 

कशक्या की भयाषया बन जयाती ह।ै
4. अंगे्जी को 1991 में उदयारीकरण के बयाद आठवीं अनुसचूी में 

जोडया ग्या।
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) केवल तीन
(d) सभी चयार
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Q66. Consider the following statements about Moonlight 
Solar Panels Technology:
Statement-I: Moonlight Solar Panels generate 
electricity using heat lost from their surfaces at night.
Statement-II: It works based on thermoelectric 
generators capturing radiative cooling differentials.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q67. The Axiom-4 mission, which recently involved 
India’s participation, included experiments with 
tardigrades (water bears). What is the primary 
objective of studying tardigrades in a microgravity 
environment?
(a) To assess their potential as a food source for 

astronauts.
(b) To understand their revival and reproduction 

capabilities in space and the underlying molecular 
mechanisms of their resilience.

(c) To determine their impact on the structural 
integrity of spacecraft.

(d) To evaluate their effectiveness in waste recycling 
within the International Space Station.

Q68. Nano Sulphur has garnered attention for its diverse 
applications. In which of the following sectors is 
Nano Sulphur NOT typically used?
(a) Agriculture as a fungicide and fertilizer.
(b)  Production of high-strength construction 

materials like cement.
(c) Biomedical applications including drug delivery.
(d) Energy storage in lithium-sulfur batteries.

Q69. Long-term exposure to PM10 pollution is 
primarily associated with which of the following 
health issues?
1. Exacerbation of asthma and bronchitis.
2. Increased risk of cardiovascular diseases.
3. Impaired lung growth in children.
4. Development of skin allergies.
Which of the statements given above is/are correct?
 (a) 1 and 4 only   (b) 2 and 3 only
 (c) 1, 2, and 3 only  (d) 1, 2, 3, and 4

Q70. Which of the following factors contributes to the 
exceptional survival abilities of water bears?
1. Their ability to undergo anhydrobiosis (a form of 

cryptobiosis induced by lack of water).
2. The presence of unique proteins that protect 

their DNA from radiation.
3. Their rapid reproductive cycle allowing for quick 

adaptation.
4. Their large size, providing a greater buffer against 

environmental changes.
Which of the statements given above is/are correct?
 (a) 1 and 2 only   (b) 2 and 3 only
 (c) 1, 2, and 3 only  (d) 1, 2, 3, and 4

Q71. Consider the following statements regarding the 
administration and economy of the Satavahana 
Dynasty:
1. The Satavahanas implemented a highly centralized 

administrative system with minimal autonomy 
granted to provincial governors.

2. Their economy was predominantly pastoral, with 
limited development in agriculture or trade.

3. The Satavahanas were pioneers in granting tax-
free lands to Buddhist monks and Brahmins, a 
practice that significantly influenced later Indian 
feudal patterns.

How many of the above statements is/are correct?
 (a) Only one
 (b) Only two
 (c) All three
 (d) None

Q72. Consider the following statements regarding the 
classification of Lord Buddha’s relics.
Statement-I: The classification of Lord Buddha’s 
relics into Saririka, Paribhogika, and Uddesika types 
encompasses all forms of revered items associated 
with his life and teachings.
Statement-II: Saririka relics, being direct physical 
remains, are considered the most sacred and are 
exclusively housed in stupas constructed by Emperor 
Ashoka.
Which one of the following is correct in respect of 
the above statements?
 (a)  Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

 (b) Both Statement I and Statement II are correct 
but Statement II is NOT the correct explanation 
of Statement I.

 (c)  Statement I is correct but Statement II is incorrect.
 (d) Statement I is incorrect but Statement II is correct.

Q73. Consider the following statements regarding the 
National Human Rights Commission (NHRC):
1. The NHRC can only inquire into human rights 

violations if a formal petition is filed by the victim 
or on their behalf.

2. The ex-officio members of the NHRC include 
the Chairpersons of the National Commission for 
Scheduled Castes and the National Commission 
for Women.

3. The NHRC has the power to award monetary 
compensation to victims of human rights violations, 
which is directly enforceable.

Which of the statements given above are correct?
 (a) 1 and 2 only
 (b) 2 only
 (c) 2 and 3 only
 (d) 1, 2 and 3
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Q66. मलूििाइट सोिर पिैि तकि़ीक के सृंदभ्म में:
1. कथन-I: मनूलयाइट सोलर पनैल रयात में अपने सतह से 

कनकलने वयाली गमती कया उप्ोग करके कबजली उतपनन 
करते हैं।

2. कथन-II: ् ह थममोइलेककट्रक जनरेटरों पर आियाररत होती ह ै
जो रेकडएकटव कूकलंग अंतर को पकडती ह।ै

सह़ी उत्र चिुें:
(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है
(b)  दोनों कथन सही हैं लेककन कथन-II, कथन-I की सही 

व्याख्या नहीं है
(c)  केवल कथन-I सही है
(d)  केवल कथन-II सही है

Q67. Axiom-4 नमशि के सृंदभ्म में, नजसमें भारत की भाग़ीदाऱी 
थ़ी, टानर्मग्रर्ेस (जि भािलू) पर प्र्ोग नकए गए। इसका 
मखु् उद्शे् ््ा था?

(a)  अंतररक् ्याकत््ों के कलए खयाद्य स्ोत के रूप में इनकी 
क्मतया कया मलू्यंाकन करनया।

(b)  अंतररक् में पुनजतीवन व प्रजनन की क्मतया तथया इनके 
लचीलेपन के आणकवक तंत् को समझनया।

(c)  अंतररक् ्यान की संरचनयातमक अखंडतया पर इनके प्रभयाव 
को कनिया्गररत करनया।

(d)  अंतरया्गषट्री् अंतररक् ् टेशन में अपकशष्ट पुनच्गरिण में इनकी 
प्रभयावशीलतया कया मलू्यंाकन करनया।

Q68. ििैो सल्फर के उप्ोग को िकेर कौि-सा क्षते्र इसके 
सामान् उप्ोग में िहीं आता?

(a) कृकष में फफंूदनयाशक और उव्गरक के रूप में
(b) सीमेंट जसेै उचच शकक्त कनमया्गण सयामग्ी के उतपयादन में
(c) जवै-कचककतसया अनुप्र्ोगों में जसेै औषकि कवतरण
(d) कलकथ्म-सलफर बटैरर्ों में ऊजया्ग भंडयारण के कलए

Q69. PM10 प्रदलूषण के द़ीघ्मकानिक सृंपक्म  स े कौि-कौि स़ी 
सिास्थ् समस्ाएृं जुड़ी होत़ी हैं?

1. अ्थमया और ब्ोंकयाइकटस कया बढनया
2. हृद् रोग कया खतरया बढनया
3. बचचों में फेफडों की वकृधि पर असर
4. तवचया एलजती कया कवकयास
सह़ी उत्र चिुें:
(a) केवल 1 और 4
(b) केवल 2 और 3
(c) 1, 2 और 3
(d) 1, 2, 3 और 4

Q70. जि भािओु ृं (Water Bears) की असाधारण ज़ीििशनक्त के 
कारण ््ा हैं?

1. कनज्गल जीवन अव्थया (Anhydrobiosis) अपनयाने की 
क्मतया

2. डीएनए को कवककरण से बचयाने वयाले कवशेष प्रोटीन
3. तवररत अनुकूलन हेतु तेज प्रजनन चरि
4. उनकया बडया आकयार जो प्या्गवरणी् पररवत्गनों के कलए बफर 

प्रदयान करतया है
सह़ी उत्र चिुें:
(a) केवल 1 और 2  (b) केवल 2 और 3
(c) 1, 2 और 3   (d) 1, 2, 3 और 4

Q71. सातिाहि प्रशासि ि अथ्मव्िसथा के सृंदभ्म में कथिों पर 

निचार करें :

1. सयातवयाहनों ने अत्ंत कें द्रीकृत प्रशयासन लयाग ू कक्या थया, 

कजसमें प्रयंाती् गवन्गरों को न्नूतम ्वया्तितया दी गई थी।

2. उनकी अथ्गव्व्थया मुख्तः पशुपयालन आियाररत थी, कृकष 

और व्यापयार कया सीकमत कवकयास थया।

3. वे बौधि कभकु्ओ ंऔर ब्याह्मणों को करमुक्त भकूम दयान देने की 

परंपरया के अग्दूत थे, कजसने भयारती् भ-ू्वयामी व्व्थया 

को प्रभयाकवत कक्या।

नकति ेकथि सह़ी हैं?

(a) केवल एक

(b) केवल दो

(c) सभी तीन

(d) कोई नहीं

Q72. भगिाि बदु के अिशषेों के िगगीकरण के सृंदभ्म में:

कथि-I: बदु के अिशषेों को शऱीररक (Saririka), 

पररभोनगक (Paribhogika) और उद्नेशक (Uddesika) 

शनेण्ों में िगगीक्र त करिा उिके ज़ीिि और नशक्षाओ ृं स े

जुड ेसभ़ी पलूजि़ी् िसतओु ृं को समानहत करता ह।ै

कथि-II: शऱीररक अिशषे, जो प्रत्क्ष शाऱीररक अिशषे 

होत े हैं, सबस े पनित्र माि े जात े हैं और इनहें केिि सम्ाट 

अशोक द्ारा निनम्मत सतलूपों में रिा ग्ा ह।ै

सह़ी उत्र चिुें:

(a)  दोनों कथन सही हैं और कथन-II, कथन-I की सही 

व्याख्या है

(b)  दोनों कथन सही हैं लेककन कथन-II, कथन-I की सही 

व्याख्या नहीं है

(c)  केवल कथन-I सही है

(d)  केवल कथन-II सही है

Q73. NHRC के सृंबृंध में:

1. NHRC केवल तभी जयंाच कर सकतया ह ै जब पीकडत द्यारया 

औपचयाररक ्याकचकया दज्ग की गई हो।

2 NHRC के पदेन सद्् रयाषट्री् अनुसकूचत जयाकत आ्ोग 

और रयाषट्री् मकहलया आ्ोग के अध्क् होते हैं।

3. NHRC को मयानवयाकिकयार उललंघन पीकडतों को मुआवजया 

देने की शकक्त ह ैऔर इसकया पयालन सीिे कक्या जयातया ह।ै

सह़ी निकल्प चिुें:

(a) केवल 1 और 2

(b) केवल 2

(c) केवल 2 और 3

(d) 1, 2 और 3
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Q74. Which one of the following represents the most 
significant strategic advantage of DRDO’s recently 
tested Stratospheric Airship Platform compared to 
traditional surveillance satellites?
(a) Its ability to achieve significantly higher altitudes 

for broader Earth observation coverage.
(b) Its complete invulnerability to anti-satellite 

weaponry due to its non-orbital nature.
(c)  Its primary reliance on conventional jet propulsion 

for rapid deployment and maneuverability across 
vast distances.

(d)  Its capacity for persistent, geostationary-like 
surveillance over a specific area of interest for 
extended durations with greater flexibility and 
lower cost.

Q75. Consider the following statements regarding the 
Biodiversity Benefit Sharing Regulations, 2025, 
notified by the National Biodiversity Authority of 
India:
1. All commercial users of biological resources, 

irrespective of their annual turnover, are 
mandated to share a minimum of 0.5% of their 
annual gross ex-factory sale price as benefits.

2. The regulations provide exemption from benefit 
sharing for industries using cultivated medicinal 
plants and for AYUSH practitioners.

3. For biological resources of high conservation 
or economic value, such as red sanders and 
sandalwood, the benefit sharing shall not be less 
than 5% of the auction proceeds or sale amount, 
and can extend beyond 20% for commercial use.

Which of the above statements is/are correct?
 (a) 1 only    (b) 2 only
 (c) Both 1 and 2   (d) Neither 1 nor 2

Q76. Consider the following statements regarding the 
Khelo India initiative:
1. The Khelo India Scheme was launched with the 

twin objectives of mass participation in sports 
and promotion of excellence.

2. One of the key components of the Khelo India 
Scheme is the “Fit India Movement”.

3. Athletes identified under the Khelo India 
Scheme are eligible for an annual scholarship 
that includes an out-of-pocket allowance and 
support for training and diet.

How many of the above statements is/are correct?
 (a) Only one   (b) Only two
 (c) All three   (d) None

Q77. One of the significant intended benefits of 
the Election Commission of India’s ECINET 
platform is to:
(a) Enable online voting for all eligible citizens 

during general elections.
(b) Provide a dedicated e-commerce portal for the 

sale of election-related merchandise.
(c) Alleviate the burden on users from downloading 

and navigating multiple Election Commission of 
India (ECI) applications by offering a singular, 
integrated interface.

(d) Replace the physical verification process of 
electors by Booth Level Officers with an entirely 
AI-driven authentication system.

Q78. With reference to Vikramaditya I of the Badami 
Chalukyas, consider the following statements:
1. He was the founder of the Badami Chalukya 

dynasty and is credited with performing the 
Ashvamedha Yajna.

2. Vikramaditya I successfully reclaimed Vatapi 
(Badami) from the Pallavas.

3. His reign was marked by a policy of religious 
intolerance, primarily promoting Shaivism and 
suppressing Jain establishments.

How many of the above statements is/are correct?
 (a) Only one
 (b) Only two
 (c) All three
 (d) None

Q79. Consider the following statements regarding 
Aadhaar-based Face Authentication recently tested 
during NEET-UG 2025:
1. The technology relies on a standalone facial 

recognition software developed by the National 
Testing Agency (NTA) without using the UIDAI’s 
Aadhaar database.

2. A primary objective of this Proof of Concept 
(PoC) was to enhance exam security by reducing 
chances of impersonation through real-time 
biometric verification.

3. The Aadhaar Act, 2016, explicitly prohibits the 
use of Aadhaar authentication for any purpose 
other than the delivery of government subsidies 
and benefits.

How many of the above statements is/are correct?
 (a) Only one
 (b) Only two
 (c) All three
 (d) None

Q80. With reference to the Nabakalebara ritual of Lord 
Jagannath, consider the following statements:
Statement I: The Nabakalebara ritual is performed 
annually during the Rath Yatra festival in Puri.
Statement II: The ritual involves the ceremonial 
burial of the old idols in a designated sacred space 
within the temple premises, symbolizing the cyclical 
nature of existence.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct



21Page No.
Address: Police Line Road, Daltonganj, Palamu, Jharkhand : 7909017633        :contact@ccsupsc.com        : ccsupsc.com

Q74. DRDO के हाि ह़ी में पऱीक्षण नकए गए सट्टैोसफेररक 
ए्रनशप पिटेफॉम्म की पारृं पररक निगराि़ी उपग्रहों की 
तिुिा में सबस ेबड़ी रणि़ीनतक निशषेता ््ा ह?ै

(a)  पथृवी की व्यापक कनगरयानी के कलए उचच ऊंचयाई प्रयाप्त करने 
की क्मतया

(b)  इसकी गरै-कक्ी् प्रकृकत के कयारण एंटी-सटेैलयाइट 
हकथ्यारों से पणू्ग सुरक्या

(c)  पयारंपररक जेट प्रणोदन पर कनभ्गरतया के कयारण तेज गकत से 
्थयान पररवत्गन

(d)  ककसी कवशेष के्त् में लंबे सम् तक कनगरयानी की क्मतया, 
अकिक लचीलयापन और कम लयागत के सयाथ

Q75. जिै निनिधता िाभ साझा करि ेके नि्म 2025 के सृंदभ्म 
में:

1. जकैवक संसयािनों के सभी वयाकणकज्क उप्ोगकतया्गओ ं
को उनके वयाकष्गक सकल एकस-फैकटरी कबरिी मलू् कया 
न्नूतम 0.5% लयाभ के रूप में सयाझया करनया अकनवया ््ग ह,ै 
चयाहे उनकया टन्गओवर कुछ भी हो।

2. ्े कन्म खेती की गई औषिी् पौिों कया उप्ोग करने 
वयाले उद्योगों और AYUSH कचककतसकों को लयाभ सयाझया 
करने से छूट देते हैं।

3. उचच संरक्ण ्या आकथ्गक मलू् वयाले जकैवक संसयािनों (जसेै 
लयाल चंदन, चंदन) के कलए, लयाभ सयाझया करनया नीलयामी 
रयाकश कया न्नूतम 5% होनया चयाकहए, और ्ह 20% से 
अकिक भी हो सकतया ह।ै

नकति ेकथि सह़ी हैं?
(a) केवल 1
(b) केवल 2
(c) 1 और 2 दोनों
(d) न तो 1 और न ही 2

Q76. रिीडा भारत (Khelo India) पहि के सृंदभ्म में निमिनिनित 
कथिों पर निचार करें :

1. रिीडया भयारत ्ोजनया कया उदे्श् खेलों में जनसयामयान् की 
भयागीदयारी और उतकृष्टतया को बढयावया देनया ह।ै

2. रिीडया भयारत ्ोजनया कया एक प्रमुख घटक “कफट इंकड्या 
मवूमेंट” ह।ै

3. रिीडया भयारत ्ोजनया के अंतग्गत कचकनहत कखलयाकड्ों को 
वयाकष्गक छयात्वकृति प्रदयान की जयाती ह,ै कजसमें दकैनक खच्ग, 
प्रकशक्ण और आहयार सहया्तया शयाकमल होती ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

Q77. भारत नििा्मचि आ्ोग के ECINET पिटे़िॉम्म का एक 
प्रमिु िाभ ््ा ह?ै

(a)  सभी पयात् नयागररकों को आम चुनयावों में ऑनलयाइन मतदयान 
की सुकविया देनया

(b)  चुनयाव संबंिी व्तुओ ंकी कबरिी हेतु एक कवशेष ई-कॉमस्ग 
पोट्गल उपलबि करयानया

(c)  उप्ोगकतया्गओ ं को कई ऐप डयाउनलोड करने के बोझ से 
मुकक्त कदलयाकर एकीकृत इंटरफेस प्रदयान करनया

(d)  मतदयातयाओ ंकी शयारीररक पुकष्ट की प्रकरि्या को परूी तरह 
एआई-आियाररत करनया

Q78. बादाम़ी चािु् ् राजा निरिमानदत् I के सृंदभ्म में 

निमिनिनित कथिों पर निचार करें :

1. वे बयादयामी चयालुक् वंश के सं्थयापक थे और उनहोंने 

अश्वमेि ्ज् कक्या थया।

2. कवरिमयाकदत् I ने पललवों से वयातयापी (बयादयामी) को पुनः प्रयाप्त 

कक्या।

3. उनकया शयासनकयाल ियाकम्गक असकहषणुतया से कचकनित थया, 

कजसमें शवै मत को बढयावया और जनै सं्थयानों को दमन 

कक्या ग्या।

इिमें स ेनकति ेकथि सह़ी हैं?

(a) केवल एक

(b) केवल दो

(c) सभी तीन

(d) कोई नहीं

Q79. ि़ीट- ल्ूज़ी 2025 में पररक्षणाध़ीि आधार-आधाररत फेस 

प्रमाण़ीकरण के सृंबृंध में निमि कथिों पर निचार करें :

1. ्ह तकनीक UIDAI के आियार डेटयाबेस के उप्ोग के 

कबनया, NTA द्यारया कवककसत ्वतंत् फेस ररककगनशन 

सॉफटवे्र पर आियाररत ह।ै

2. इस प्रणयाली कया प्रमुख उदे्श् वया्तकवक सम् में 

बया्ोमेकट्रक सत्यापन के मयाध्म से परीक्या में िोखयािडी 

की संभयावनयाओ ंको कम करनया ह।ै

3. आियार अकिकन्म, 2016 ्पष्ट रूप से आियार प्रमयाणीकरण 

कया उप्ोग केवल सरकयारी सकबसडी और लयाभों तक 

सीकमत करतया ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?

(a) केवल एक

(b) केवल दो

(c) सभी तीन

(d) कोई नहीं

Q80. भगिाि जगनिाथ की ििकििेर (Nabakalebara) निनध 

के सृंबृंध में कथि दिेें:

कथि I: ्ह निनध परु़ी में रथ ्ात्रा उतसि के दौराि हर िष्म 

की जात़ी ह।ै

कथि II: ्ह निनध परुाि ेनिग्रहों को मृंनदर पररसर में एक 

पनित्र सथाि पर निनधपलूि्मक दफिाि े की प्रनरि्ा ह,ै जो 

अनसतति के चरि को दशा्मत़ी ह।ै

सह़ी निकल्प चनुिए:

(a)  दोनों कथन सही हैं और कथन II, कथन I की सही 

व्याख्या ह।ै

(b)  दोनों कथन सही हैं लेककन कथन II, कथन I की व्याख्या 

नहीं ह।ै

(c)  कथन I सही ह ैलेककन कथन II गलत ह।ै

(d)  कथन I गलत ह ैलेककन कथन II सही ह।ै
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Q81. Consider the following statements regarding 
Energy Conservation Act, 2022 Amendment.
Statement-I: The Energy Conservation Act, 2022 
Amendment strengthens India’s domestic carbon 
market.
Statement-II: This amendment aligns with India’s 
NDCs, including a 45% reduction in emission 
intensity by 2030.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q82. What is the primary aim of the Contempt of Courts 
Act, 1971?
 (a) To establish judicial transparency
 (b) To codify judicial ethics
 (c) To investigate judicial misconduct
 (d) To protect the judiciary from undue influence

Q83. Consider the following statements regarding 
judicial accountability:
1. Article 124(4) and 124(5) of the Constitution 

govern the impeachment of Supreme Court judges.
2. The Judges (Inquiry) Act, 1968, provides a 

mechanism to investigate judicial misconduct.
3. The Restatement of Judicial Values, 1997, is 

legally binding.
How many of the above statements is/are incorrect?
 (a) Only one   (b) Only two
 (c) All three   (d) None

Q84. Consider the following statements about India’s 
logistics sector:
1. Road transport accounts for the largest share of 

logistics movement in India.
2. Waterways are the most cost-effective mode for 

heavy goods transportation.
3. Rail is predominantly used for short-haul 

transportation.
How many of the above statements is/are correct?
 (a) Only one   (b) Only two
 (c) All three   (d) None

Q85. Consider the following statements about PM Gati 
Shakti:
1. It integrates multi-modal transportation 

infrastructure for seamless connectivity.
2. It focuses exclusively on rural road networks.
3. It supports infrastructure development through 

improved coordination among stakeholders.
How many of the above statements is/are correct?
 (a) Only one   (b) Only two
 (c) All three   (d) None

Q86. What is the primary purpose of the WHO Priority 
List of Pathogens?
(a) To categorize all known zoonotic diseases
(b) To focus global efforts on pathogens with epidemic potential 

and insufficient medical countermeasures
(c) To list pathogens that have been completely controlled
(d) To identify pathogens eradicated through vaccination

Q87. Which geopolitical event led to the announcement 
of the Carter Doctrine?
 (a) The U.S. intervention in the Gulf War
 (b) The signing of the Camp David Accords
 (c) The Iranian Revolution
 (d) The Soviet invasion of Afghanistan in 1979

Q88. Consider the following statements about rockets 
and environmental pollution:
Statement-I: Rocket launches contribute to ozone 
depletion through chlorine-based propellants.
Statement-II: Black carbon released during launches 
has a minimal impact compared to carbon dioxide.
Which one of the following is correct in respect of 
the above statements?
(a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

(b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

(c) Statement-I is correct but Statement-II is incorrect
(d) Statement-I is incorrect but Statement-II is correct

Q89. What distinguishes the ESA’s ClearSpace-1 
mission?
(a) It targets multiple small debris fragments for removal.
(b) It uses laser technology to de-orbit debris.
(c) It aims to remove a single large piece of space debris.
(d) It focuses on developing reusable satellite components.

Q90. Which of the following best describes the role of 
dissent in judiciary?
 (a) It ensures conformity with the majority opinion.
 (b) It is a judicial error with no legal significance.
 (c) It weakens judicial unity.
 (d) It provides an alternate interpretation of the law 

and contributes to democratic discourse.

Q91. Consider the following statements regarding the 
South China Sea disputes:
1. The “nine-dash line” claim by China encompasses 

approximately 50% of the South China Sea and 
is largely accepted under the UN Convention on 
the Law of the Sea (UNCLOS).

2. The Paracel Islands are primarily disputed 
between the Philippines and Malaysia, with 
China playing a mediating role.

3. The Sunda Shelf is the deepest part of the South 
China Sea and is a major area for hydrocarbon 
exploration.

How many of the above statements is/are correct?
 (a) Only one   (b) Only two
 (c) All three   (d) None
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Q81. ऊजा्म सृंरक्षण अनधनि्म, 2022 सृंशोधि के सृंदभ्म में निचार 
करें :

कथि I: ्ह सृंशोधि भारत के घरेिलू काब्मि बाजार को 
मजबलूत करता ह।ै
कथि II: ्ह भारत के NDC िक््ों जसै े 2030 तक 45% 
उतसज्मि त़ीव्रता में कटौत़ी के साथ मिे िाता ह।ै
सह़ी निकल्प चनुिए:
(a) दोनों कथन सही हैं और II, I की सही व्याख्या ह।ै
(b) दोनों कथन सही हैं लेककन II, I की व्याख्या नहीं ह।ै
(c) I सही ह ैलेककन II गलत ह।ै
(d) I गलत ह ैलेककन II सही ह।ै

Q82. न्ा्ाि् की अिमाििा अनधनि्म, 1971 का प्रमिु 
उद्शे् ््ा ह?ै

(a) न्याक्क पयारदकश्गतया ्थयाकपत करनया
(b) न्याक्क नकैतकतया कया संकहतयाकरण करनया
(c) न्याक्क कदयाचयार की जयँाच करनया
(d) न्या्पयाकलकया को अनुकचत प्रभयाव से संरक्ण देनया

Q83. न्ान्क उत्रदान्ति के सृंदभ्म में कथिों पर निचार करें :
1. संकवियान के अनुचछेद 124(4) और 124(5) उचचतम न्या्याल् 

के न्या्यािीशों के महयाकभ्ोग को कन्ंकत्त करते हैं।
2. न्या्यािीश (जयंाच) अकिकन्म, 1968 न्याक्क कदयाचयार की 

जयंाच कया प्रयावियान करतया ह।ै
3. न्याक्क मलू्ों की पुनव्या्गख्या, 1997, कयाननूी रूप से 

बयाध्कयारी ह।ै
इिमें स ेनकति ेकथि गित हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

Q84. भारत के िॉनजनसट्स क्षते्र के बारे में कथिों पर निचार 
करें :

1. भयारत में पररवहन कया सबसे बडया कह्सया सडक पररवहन से 
होतया ह।ै

2. जलमयाग्ग भयारी मयाल पररवहन के कलए सबसे ककफया्ती 
मयाध्म हैं।

3. रेल पररवहन मुख्तः छोटी दूरी के कलए प्र्ोग होतया ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

Q85. प़ीएम गनतशनक्त के सृंबृंध में कथिों पर निचार करें :
1. ्ह कनबया्गि संपक्ग  के कलए बहु-मॉडल पररवहन अवसंरचनया 

को एकीकृत करतया ह।ै
2. इसकया ध्यान केवल ग्यामीण सडक नेटवक्ग  पर ह।ै
3. ्ह कहतियारकों के बीच बेहतर समनव् के मयाध्म से 

अवसंरचनया कवकयास को समथ्गन देतया ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं

Q86. WHO द्ारा जाऱी ‘प्राथनमकता रोगजिकों की सलूच़ी’ 
(Priority List of Pathogens) का प्रमिु उद्शे् ््ा ह?ै

(a)  सभी ज्यात ज़नूोकटक रोगों को वगतीकृत करनया
(b)  महयामयारी की संभयावनया वयाले और अप्या्गप्त उपचयार कवकलप 

वयाले रोगजनकों पर वकैश्वक ध्यान कें कद्रत करनया
(c)  कन्ंकत्त हो चुके रोगजनकों की सचूी बनयानया
(d)  टीकयाकरण से समयाप्त रोगों की पहचयान करनया

Q87. कौि स़ी भलू-राजि़ीनतक घटिा काट्मर नसदाृंत (Carter 
Doctrine) के घोषणाकाि का कारण बि़ी थ़ी?

(a) खयाडी ्ुधि में अमेररकी ह्तके्प
(b) कैं प डेकवड समझौते पर ह्तयाक्र
(c) ईरयानी रियंाकत
(d) 1979 में अफगयाकन्तयान पर सोकव्त आरिमण

Q88. रॉकेट और प्ा्मिरण प्रदलूषण के सृंदभ्म में कथिों पर निचार 
करें :

कथि I: रॉकेट प्रक्षपेण ्िोऱीि आधाररत ई ृंधि के कारण 
ओजोि परत को िकुसाि पहँुचात ेहैं।
कथि II: प्रक्षपेण के दौराि निकि े बिकै काब्मि का 
प्रभाि, काब्मि राइऑ्साइर की तिुिा में िगण् होता ह।ै
सह़ी निकल्प चनुिए:
(a) दोनों कथन सही हैं और II, I की सही व्याख्या ह।ै
(b) दोनों कथन सही हैं लेककन II, I की व्याख्या नहीं ह।ै
(c) I सही ह ैलेककन II गलत ह।ै
(d) I गलत ह ैलेककन II सही ह।ै

Q89. ESA ( ल्ूरोप़ी् अृंतररक्ष एजेंस़ी) के ClearSpace-1 नमशि 
की निनशटिता ््ा ह?ै

(a)  ्ह कई छोटे मलबे के टुकडों को हटयाने कया लक्् रखतया ह।ै
(b)  ्ह मलबे को कक्या से हटयाने के कलए लेज़र तकनीक कया 

उप्ोग करतया ह।ै
(c)  ्ह अंतररक् के एक बडे मलबे को हटयाने कया लक्् रखतया ह।ै
(d)  ्ह पुन: उप्ोग ् ोग् उपग्ह घटकों के कवकयास पर कें कद्रत ह।ै

Q90. न्ा्पानिका में असहमनत (dissent) की भलूनमका को सबस े
अचछा कौि दशा्मता ह?ै

(a)  ्ह बहुमत की रया् के सयाथ अनुकूलतया सुकनकचित करतया ह।ै
(b)  ्ह एक न्याक्क तु्कट ह ैकजसकया कोई कयाननूी महतव नहीं 

होतया।
(c)  ्ह न्याक्क एकतया को कमजोर करतया ह।ै
(d)  ्ह कयाननू की वकैकलपक व्याख्या प्रदयान करतया ह ै और 

लोकतयंाकत्क संवयाद में ्ोगदयान करतया ह।ै

Q91. दनक्षण च़ीि सागर नििादों के सृंबृंध में निमिनिनित 
कथिों पर निचार करें :

1. चीन द्यारया दयावया की गई "नयाइन-डशै लयाइन" दकक्ण चीन 
सयागर के लगभग 50% कह्से को घेरती ह ैऔर ्ह सं्ुक्त 
रयाषट्र समुद्री कयाननू संकि (UNCLOS) के तहत व्यापक रूप 
से ्वीकृत ह।ै

2. पयारयासेल द्ीपसमहू मुख्तः कफलीपींस और मलेकश्या के 
बीच कववयाकदत हैं, कजसमें चीन मध््थ की भकूमकया कनभया 
रहया ह।ै

3. संुडया शेलफ दकक्ण चीन सयागर कया सबसे गहरया भयाग ह ैऔर 
्ह हयाइड्ोकयाब्गन अनवेषण के कलए एक प्रमुख के्त् ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक  (b) केवल दो
(c) सभी तीन   (d) कोई नहीं
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Q92. Consider the following statements regarding the 
Green Hydrogen Certification Scheme of India 
(GHCI):
1. The GHCI is implemented by the Ministry of 

Power, with the Bureau of Energy Efficiency 
(BEE) acting as the primary certification body.

2. The scheme mandates a specific greenhouse 
gas (GHG) emission threshold, measured in kg 
CO2 equivalent per kg H2, for hydrogen to be 
certified as “green.”

3. Certification under GHCI covers the entire 
lifecycle of green hydrogen, including its 
production, transportation, and storage, to ensure 
end-to-end traceability.

4. The scheme is mandatory for all hydrogen 
producers in India, irrespective of whether 
their product is for domestic consumption or 
exclusively for export.

How many of the above statements is/are correct?
 (a) Only one
 (b) Only two
 (c) Only three
 (d) All four

Q93. Which one of the following represents the most 
accurate combination of the IUCN Red List status 
and a primary threat for the Red-Crowned Roofed 
Turtle (Batagur kachuga)?
(a) Vulnerable; Incidental capture in fishing nets
(b) Endangered; Competition with invasive turtle 

species
(c) Critically Endangered; Habitat degradation due 

to pollution and sand mining
(d) Near Threatened; Predation of eggs by natural 

predators

Q94. With reference to the appointment of the Chief 
Justice of India (CJI), consider the following 
statements:
1. To be eligible for appointment as CJI, a person 

must have served as a Judge of a High Court for 
at least ten years or been an advocate in a High 
Court for at least five years.

2. The Constitution of India prescribes a fixed 
tenure of five years for the office of the Chief 
Justice of India.

3. The President of India can appoint an Acting 
Chief Justice if the office of the CJI is vacant, 
but only after obtaining concurrence from the 
collegium of the five senior-most Supreme Court 
judges.

How many of the above statements is/are correct?
 (a) Only one
 (b) Only two
 (c) All three
 (d) None

Q95. Consider the following statements:
1. Starlink is an example of Low Earth Orbit (LEO) 

satellite constellations designed to provide global 
broadband services with significantly lower 
latency than traditional Geostationary Earth 
Orbit (GEO) satellites.

2. A key advantage of LEO satellite internet 
constellations is their inherent immunity to 
weather-related signal disruptions, particularly 
in higher frequency bands.

3. Inter-satellite links using lasers or radio waves 
are crucial for creating a mesh network in space, 
enabling seamless data transfer and reducing 
reliance on numerous ground stations.

How many of the above statements is/are correct?
 (a) Only one
 (b) Only two
 (c) All three
 (d) None

Q96. Consider the following statements:
Statement-I: The Special 301 Report is an annual 
publication by the World Trade Organization 
(WTO) that identifies countries with inadequate 
protection of intellectual property rights (IPR), 
which negatively impacts global trade.
Statement-II: India’s consistent placement 
on the ‘Priority Watch List’ in the Special 301 
Report is primarily due to concerns regarding its 
pharmaceutical patent laws and high customs duties 
on ICT goods.
Which one of the following is correct in respect of 
the above statements?
 (a) Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

 (b) Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

 (c) Statement-I is correct but Statement-II is incorrect
 (d) Statement-I is incorrect but Statement-II is correct

Q97. Consider the following statements regarding 
Bandhavgarh National Park:
1. The park is located in the Satpura ranges of 

Chhattisgarh and is primarily characterized by 
moist evergreen forests.

2. The park is bisected by the Narmada River, which 
is the primary perennial water source supporting 
its rich biodiversity.

Which of the above statements is/are correct?
 (a) 1 only
 (b) 2 only
 (c) Both 1 and 2
 (d) Neither 1 nor 2
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Q92. भारत की ग्ऱीि हाइड्ोजि प्रमाणि ्ोजिा (GHCI) के 

सृंबृंध में निचार करें :

1. GHCI को कवद्यतु मंत्याल् द्यारया कया्या्गकनवत कक्या ग्या ह,ै 

कजसमें ऊजया्ग दक्तया ब्रूो (BEE) मुख् प्रमयाणन सं्थया ह।ै

2. ्ोजनया में हयाइड्ोजन को “ग्ीन” प्रमयाकणत करने हेतु एक 

कवकशष्ट ग्ीनहयाउस गसै (GHG) उतसज्गन सीमया कनिया्गररत 

की गई ह।ै

3. GHCI के अंतग्गत प्रमयाणन में हयाइड्ोजन के उतपयादन, 

पररवहन और भंडयारण कया परूया जीवनचरि शयाकमल ह।ै

4. ्ह ्ोजनया भयारत में सभी हयाइड्ोजन उतपयादकों के कलए 

अकनवया ््ग ह,ै चयाहे वह घरेल ूउपभोग हो ्या केवल कन्या्गत के 

कलए हो।

इिमें स ेनकति ेकथि सह़ी हैं?

(a) केवल एक

(b) केवल दो

(c) केवल तीन

(d) सभी चयार

Q93. रेर-रिाउि रूफर टट्मि (Batagur kachuga) के IUCN नसथनत 

और प्रमिु ितरे का सबस ेसट़ीक सृं्ोजि कौि सा 

ह?ै

(a)  असुरकक्त (Vulnerable); मछली पकडने के जयाल में 

आकक्मक फँसनया

(b)  संकटग््त (Endangered); आरियामक प्रजयाकत्ों से 

प्रकत्पिया्ग

(c)  गंभीर रूप से संकटग््त (Critically Endangered); प्रदूषण 

और रेत खनन के कयारण आवयास क्रण

(d)  कनकट संकटग््त (Near Threatened); अंडों कया प्रयाकृकतक 

कशकयारी द्यारया कशकयार

Q94. भारत के मखु् न्ा्ाध़ीश (CJI) की नि्नुक्त के सृंबृंध में 

निमि कथिों पर निचार करें :

1. CJI बनने के कलए, ककसी व्कक्त को कम से कम दस वषषों 

तक उचच न्या्याल् के न्या्यािीश के रूप में ्या कम से 

कम पयँाच वषषों तक अकिवक्तया के रूप में सेवया देनी चयाकहए।

2. संकवियान CJI के कलए पयँाच वष्ग कया कनकचित कया ््गकयाल 

कनिया्गररत करतया ह।ै

3. ्कद CJI कया पद ररक्त होतया ह,ै तो रयाषट्रपकत कया ््गवयाहक 

CJI की कन्ुकक्त कर सकतया ह,ै लेककन केवल सवमोचच 

न्या्याल् के पयँाच वररष्ठतम न्या्यािीशों की सहमकत से।

इिमें स ेनकति ेकथि सह़ी हैं?

(a) केवल एक

(b) केवल दो

(c) सभी तीन

(d) कोई नहीं

Q95. निमिनिनित कथिों पर निचार करें :

1. ्टयारकलंक लो अथ्ग ऑकब्गट (LEO) उपग्ह तयारयामंडल कया 

उदयाहरण ह,ै जो पयारंपररक कज्ो्टेशनरी उपग्हों की 

तुलनया में कम कवलंबतया के सयाथ वकैश्वक ब्ॉडबैंड सेवयाएं 

प्रदयान करतया ह।ै

2. LEO उपग्हों की एक प्रमुख कवशेषतया ्ह ह ै कक वे उचच 

आवकृति्ों पर मौसम से संबंकित कसगनल व्वियानों के प्रकत 

प्रकतरकक्त होते हैं।

3. लेज़र ्या रेकड्ो तरंगों कया उप्ोग करके उपग्हों के बीच 

कलंक एक अंतररक् जयाल नेटवक्ग  (mesh network) बनयाते हैं 

कजससे ग्याउंड ्टेशनों पर कनभ्गरतया कम होती ह।ै

इिमें स ेनकति ेकथि सह़ी हैं?

(a) केवल एक

(b) केवल दो

(c) सभी तीन

(d) कोई नहीं

Q96. कथि-I: निशषे 301 ररपोट्म निवि व्ापार सृंगठि (WTO) 

की एक िानष्मक ररपोट्म ह ैजो उि दशेों की पहचाि करत़ी 

ह ै जहाँ बौनदक सृंपदा अनधकारों की अप्ा्मति सरुक्षा 

िनैविक व्ापार को प्रभानित करत़ी ह।ै

कथि-II: भारत का िगातार ‘प्राथनमक निगराि़ी सलूच़ी’ में 

होिा इसके औषध़ी् पटेेंट कािलूिों और ICT िसतओु ृं पर 

उचच स़ीमा शलु्क स ेजुड़ी नचृंताओ ृं के कारण ह।ै

सह़ी निकल्प चनुिए:

(a) दोनों कथन सही हैं और II, I की सही व्याख्या ह।ै

(b) दोनों कथन सही हैं लेककन II, I की व्याख्या नहीं ह।ै

(c) I सही ह ैलेककन II गलत ह।ै

(d) I गलत ह ैलेककन II सही ह।ै

Q97. बाृंधिगढ राष्ट़्ी् उद्ाि के सृंबृंध में निचार करें :

1. ्ह छतिीसगढ के सतपुडया पव्गतमयालया में क्थत ह ै और 

मुख्तः नम सदयाबहयार वनों से आचछयाकदत ह।ै

2. ्ह उद्ययान नम्गदया नदी द्यारया दो भयागों में कवभयाकजत ह,ै जो 

इसकी जवै कवकवितया के कलए प्रमुख जल स्ोत ह।ै

इिमें स ेकौि सा/स ेकथि सह़ी ह/ैहैं?

(a) केवल 1

(b) केवल 2

(c) दोनों 1 और 2

(d) न तो 1 और न ही 2
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Q98. Consider the following statements regarding 
the National Security Advisory Board (NSAB) of 
India:
1. The NSAB was established as a statutory body 

through an Act of Parliament to provide long-
term strategic inputs.

2. The National Security Advisor (NSA) of India 
serves as the ex-officio Chairman of the National 
Security Advisory Board.

Which of the above statements is/are correct?
 (a) 1 only
 (b) 2 only
 (c) Both 1 and 2
 (d) Neither 1 nor 2

Q99. Consider the following statements regarding the 
National Medical Register (NMR):
1. The National Medical Register (NMR) is 

established under the provisions of the Indian 
Medical Council Act, 1956.

2. Enrolment in the NMR is mandatory only for 
doctors practicing in government healthcare 
institutions.

3. One of the primary objectives of the NMR is 
to facilitate the regulation of fee structures for 
medical consultations across India.

How many of the above statements is/are correct?
 (a) Only one
 (b) Only two
 (c) All three
 (d) None

Q100. The primary objective of India’s first inter-state 
cheetah conservation corridor, linking habitats in 
Madhya Pradesh and Rajasthan, is to:
(a) Exclusively promote cheetah tourism to generate 

revenue for local communities.
(b) Create a fenced enclosure system to prevent 

cheetahs from entering human settlements.
(c) Enable seamless and natural movement of 

cheetahs across a larger landscape, fostering a 
viable metapopulation.

(d) Relocate all existing tigers from the involved 
sanctuaries to make exclusive space for cheetahs.
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Q98. भारत के राष्ट़्ी् सरुक्षा सिाहकार बोर्म (NSAB) के सृंबृंध 
में निचार करें :

1. NSAB संसद के अकिकन्म द्यारया ्थयाकपत एक विैयाकनक 
सं्थया ह ैजो दीघ्गकयाकलक रणनीकतक सलयाह प्रदयान करती 
ह।ै

2. भयारत के रयाषट्री् सुरक्या सलयाहकयार (NSA) NSAB के पदेन 
अध्क् होते हैं।

कौि सा/स ेकथि सह़ी ह/ैहैं?
(a) केवल 1
(b) केवल 2
(c) दोनों 1 और 2
(d) न तो 1 और न ही 2

Q99. राष्ट़्ी् नचनकतसा रनजसटर (NMR) के सृंबृंध में निचार करें :
1. NMR की ्थयापनया भयारती् कचककतसया पररषद अकिकन्म, 

1956 के तहत की गई थी।
2. NMR में पंजीकरण केवल सरकयारी ्वया्थ् सं्थयानों में 

कया ््गरत डॉकटरों के कलए अकनवया ््ग ह।ै
3. NMR कया एक प्रमुख उदे्श् परेू भयारत में कचककतसकी् 

परयामश्ग शुलक की कनगरयानी करनया ह।ै
इिमें स ेनकति ेकथि सह़ी हैं?
(a) केवल एक
(b) केवल दो
(c) सभी तीन
(d) कोई नहीं

Q100. मध् प्रदशे और राजसथाि के ब़ीच भारत के पहि ेअृंतर-
राज़्ी् च़ीता सृंरक्षण गनि्ारे का प्रमिु उद्शे् ््ा 
ह?ै

(a) केवल चीतया प ््गटन को बढयावया देनया कजससे ्थयानी् 
समुदया्ों को रयाज्व कमले।

(b) बयाड प्रणयाली बनयानया तयाकक चीते मयानव बक्त्ों में न घुस 
सकें ।

(c) चीतों की प्रयाकृकतक और कनबया्गि आवयाजयाही सुकनकचित करनया 
तयाकक एक जीकवत मेटयापॉपुलेशन (जनसंख्या समहू) कया 
कवकयास हो सके।

(d) शयाकमल अभ्यारण्ों से सभी बयाघों को हटयाकर चीतों के कलए 
कवशेष ्थयान बनयानया।
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dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr esa mÙkjandi=kd fujLr dj fn;k tk,xkA

3- bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA
 ijh{k.k iqfLrdk ij vkSj dqN u fy[ksaA
4- bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x;s gSaA izR;sd iz'uka'k fgUnh vkSj vaxzsth nksuksa esa Nik gSA izR;sd 

iz'uka'k esa pkj izR;qÙkj (mÙkj) fn, x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkjandi=kd ij vafdr 
djuk pkgrs gaSA ;fn vkidks ,slk yxs fd ,d ls vf/d izR;qÙkj lgh gSa] rks ml izR;qÙkj dks vafdr djsa tks 
vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy, dsoy ,d gh izR;qÙkj pquuk gSA

5- vkidks vius lHkh izR;qÙkj vyx ls fn, x, mÙkjandi=kd ij gh vafdr djus gSaA mÙkjandi=kd esa fn, x, funsZ'k 
nsf[k,A

6- lHkh iz'uka'kksa ds vad leku gSaA

7- blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkjandi=kd ij vafdr djuk 'kq: djsa] 
vkidks izos'k izek.kandi=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkjandi=kd esa nsus gSaA

8- vki vius lHkh izR;qÙkjksa dks mÙkjandi=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj i=kd v/h{kd 
dks lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

9- dPps dke ds fy, i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

10- x -yr mÙkjksa ds fy, naM%

 oLrqfu"B iz'uandi=kksa esa mEehnokj }kjk fn, x, x -yr mÙkjksa ds fy, n.M fn;k tk,xkA

(i) izR;sd iz'u ds fy, pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy, fn, x, ,d xyr mÙkj ds 
fy, iz'u gsrq fu;r fd, x, vadksa dk ,dandfrgkbZ n.M ds :i esa dkVk tk,xkA

(ii) ;fn dksbZ mEehnokj ,d ls vf/d mÙkj nsrk gS] rks bls x -yr mÙkj ekuk tk,xk] ;|fi fn, x, mÙkjksa esa ls 
,d mÙkj lgh gksrk gS] fiQj Hkh ml iz'u ds fy, mi;qZDrkuqlkj gh] mlh rjg dk n.M fn;k tk,xkA

(iii) ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS] vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml 
iz'u ds fy, dksbZ n.M ugha fn;k tk,xkA

Note : English version of the instructions is printed on the front cover of this booklet.
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